


( iii )

Contents

  Important Information  xv

 English Language 1-664

Chapter 

No.
Chapter Name Name of Topic

Exam Name

(Best Questions Covered till 

March, 2024)

No. of 

Ques.

Total 

Questions

Page 

No.

1. Noun Type-A: Fill in the 

Blanks

¾¾ SSC GD 21 219

Questions 

With  

Solution 

With  

Solution

1-19

¾¾ SSC MTS 15

¾¾ SSC Stenographer 7

¾¾ SSC CHSL (Tier-I) 20

¾¾ SSC CPO 12

¾¾ SSC CGL (Tier-I) 19

¾¾ SSC CGL (Tier-II) 4

Type-B: Common 
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¾¾ SSC GD 9

¾¾ SSC MTS 9

¾¾ SSC Stenographer 12

¾¾ SSC CHSL (Tier-I) 18
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¾¾ SSC GD 1 150
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¾¾ SSC MTS 10

¾¾ SSC Stenographer 7

¾¾ SSC CHSL (Tier-I) 2
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Type-B: Common 

Errors

¾¾ SSC GD 5

¾¾ SSC MTS 14

¾¾ Delhi Police Head Constable 2

¾¾ SSC Stenographer 7
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¾¾ SSC MTS 7

¾¾ SSC Stenographer 8

¾¾ SSC CHSL (Tier-I) 9
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3 Adjectives & Degrees 

of Comparison

Type-A: Fill in the 
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With  
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33-49

¾¾ SSC MTS 12

¾¾ Delhi Police Head Constable 4

¾¾ SSC Stenographer 9

¾¾ SSC CHSL (Tier-I) 18
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¾¾ SSC CGL (Tier-I) 14

¾¾ SSC CGL (Tier-II) 4

Type-B: Common 

Errors
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¾¾ SSC MTS 13

¾¾ SSC Stenographer 5
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¾¾ SSC MTS 9
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¾¾ SSC CGL (Tier-I) 7

¾¾ SSC CGL (Tier-II) 2
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4. Verb Type-A: Fill in the 

Blanks

¾¾ SSC GD 12 253

Questions 

With  

Solution

50-70

¾¾ SSC MTS 14

¾¾ SSC Stenographer 3

¾¾ SSC CHSL (Tier-I) 21

¾¾ SSC CPO 7

¾¾ SSC CGL (Tier-I) 14

¾¾ SSC CGL (Tier-II) 6

Type-B: Common 

Errors

¾¾ SSC GD 10

¾¾ SSC MTS 10

¾¾ SSC Stenographer 15

¾¾ SSC CHSL (Tier-I) 34

¾¾ SSC CHSL (Tier-II) 1

¾¾ SSC CPO 12

¾¾ SSC CGL (Tier-I) 14

¾¾ SSC CGL (Tier-II) 4

Type-C: Sentence 

Improvement

¾¾ SSC GD 12

¾¾ SSC MTS 9

¾¾ SSC Stenographer 12

¾¾ SSC CHSL (Tier-I) 15

¾¾ SSC CPO 14

¾¾ SSC CGL (Tier-I) 14
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¾¾ SSC GD 8 150

Questions 

With  

Solution

71-83

¾¾ SSC MTS 7

¾¾ SSC Stenographer 6

¾¾ SSC CHSL (Tier-I) 6

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 3

¾¾ SSC CGL (Tier-II) 5

Type-B: Common 

Errors

¾¾ SSC GD 4

¾¾ SSC MTS 9

¾¾ SSC Stenographer 13

¾¾ SSC CHSL (Tier-I) 10

¾¾ SSC CPO 9

¾¾ SSC CGL (Tier-I) 20

¾¾ SSC CGL (Tier-II) 4

Type-C: Sentence 

Improvement

¾¾ SSC GD 6

¾¾ SSC MTS 5

¾¾ SSC Stenographer 13

¾¾ SSC CHSL (Tier-I) 6

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 3

¾¾ SSC CGL (Tier-II) 3
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6. Preposition Type-A: Fill in the 

Blanks

¾¾ SSC GD 4 293

Questions 

With  

Solution

84-107

¾¾ SSC MTS 14

¾¾ SSC Stenographer 15

¾¾ SSC CHSL (Tier-I) 8

¾¾ SSC CPO 26

¾¾ SSC CGL (Tier-I) 6

Type-B: Common 

Errors

¾¾ SSC GD 8

¾¾ SSC MTS 17

¾¾ SSC Stenographer 19

¾¾ SSC CHSL (Tier-I) 27

¾¾ SSC CPO 14

¾¾ SSC CGL (Tier-I) 58

¾¾ SSC CGL (Tier-II) 4

Type-C: Sentence 

Improvement

¾¾ SSC GD 17

¾¾ SSC MTS 9

¾¾ SSC Stenographer 14

¾¾ SSC CHSL (Tier-I) 7

¾¾ SSC CPO 7

¾¾ SSC CGL (Tier-I) 18

¾¾ SSC CGL (Tier-II) 1

7. Conjunction Type-A: Fill in the 

Blanks

¾¾ SSC GD 4 121

Questions 

With  

Solution

108-117

¾¾ SSC MTS 7

¾¾ SSC Stenographer 6

¾¾ SSC CHSL (Tier-I) 3

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 9

¾¾ SSC CGL (Tier-II) 3

Type-B: Common 

Errors

¾¾ SSC GD 6

¾¾ SSC MTS 9

¾¾ SSC Stenographer 8

¾¾ SSC CHSL (Tier-I) 9

¾¾ SSC CPO 7

¾¾ SSC CGL (Tier-I) 11

¾¾ SSC CGL (Tier-II) 5

Type-C: Sentence 

Improvement

¾¾ SSC GD 4

¾¾ SSC MTS 3

¾¾ SSC Stenographer 8

¾¾ SSC CHSL (Tier-I) 6

¾¾ SSC CPO 3

¾¾ SSC CGL (Tier-I) 4

¾¾ SSC CGL (Tier-II) 1
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8. Non-Finite verbs: 

Infinitive, Gerund & 

Participle

Type-A: Fill in the 

Blanks

¾¾ SSC GD 9 168

Questions 

With  

Solution

118-131

¾¾ SSC MTS 6

¾¾ SSC Stenographer 3

¾¾ SSC CHSL (Tier-I) 7

¾¾ SSC CPO 4

¾¾ SSC CGL (Tier-I) 18

¾¾ SSC CGL (Tier-II) 5

Type-B: Common 

Errors

¾¾ SSC GD 7

¾¾ SSC MTS 7

¾¾ SSC Stenographer 13

¾¾ SSC CHSL (Tier-I) 12

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 17

¾¾ SSC CGL (Tier-II) 4

Type-C: Sentence 

Improvement

¾¾ SSC GD 10

¾¾ SSC MTS 5

¾¾ SSC Stenographer 12

¾¾ SSC CHSL (Tier-I) 6

¾¾ SSC CPO 8

¾¾ SSC CGL (Tier-I) 10

9. Subject Verb Agree-

ment

Type-A: Fill in the 

Blanks

¾¾ SSC GD 3 173

Questions 

With  

Solution

132-147

¾¾ SSC MTS 4

¾¾ SSC Stenographer 7

¾¾ SSC CHSL (Tier-II) 2

¾¾ SSC CPO 2

¾¾ SSC CGL (Tier-I) 1

Type-B: Common 

Errors

¾¾ SSC GD 20

¾¾ SSC MTS 9

¾¾ SSC Stenographer 15

¾¾ SSC CHSL (Tier-I) 16

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 19

¾¾ SSC CGL (Tier-II) 13

Type-C: Sentence 

Improvement

¾¾ SSC GD 15

¾¾ SSC MTS 10

¾¾ SSC Stenographer 6

¾¾ SSC CHSL (Tier-I) 12

¾¾ SSC CPO 4

¾¾ SSC CGL (Tier-I) 8

¾¾ SSC CGL (Tier-II) 2
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10. Articles & Determin-

ers

Type-A: Fill in the 

Blanks

¾¾ SSC GD 3 144

Questions 

With  

Solution

148-160

¾¾ SSC MTS 3

¾¾ SSC Stenographer 3

¾¾ SSC CHSL (Tier-I) 5

¾¾ SSC CPO 2

¾¾ SSC CGL (Tier-I) 3

Type-B: Common 

Errors

¾¾ SSC GD 9

¾¾ SSC MTS 10

¾¾ SSC Stenographer 21

¾¾ SSC CHSL (Tier-I) 24

¾¾ SSC CHSL (Tier-II) 3

¾¾ SSC CPO 11

¾¾ SSC CGL (Tier-I) 10

¾¾ SSC CGL (Tier-II) 7

Type-C: Sentence 

Improvement

¾¾ SSC GD 4

¾¾ SSC MTS 2

¾¾ SSC Stenographer 7

¾¾ SSC CHSL (Tier-I) 1

¾¾ SSC CPO 4

¾¾ SSC CGL (Tier-I) 11

¾¾ SSC CGL (Tier-II) 1

11. Time & Tense and

Conditional Sentences

Type-A: Fill in the 

Blanks

¾¾ SSC GD 2 209

Questions 

With  

Solution

161-179

¾¾ SSC MTS 6

¾¾ SSC Stenographer 12

¾¾ SSC CHSL (Tier-I) 2

¾¾ SSC CPO 5

¾¾ SSC CGL (Tier-I) 8

¾¾ SSC CGL (Tier-II) 3

Type-B: Common 

Errors

¾¾ SSC GD 12

¾¾ SSC MTS 14

¾¾ SSC Stenographer 16

¾¾ SSC CHSL (Tier-I) 20

¾¾ SSC CPO 8

¾¾ SSC CGL (Tier-I) 15

¾¾ SSC CGL (Tier-II) 7

Type-C: Sentence 

Improvement

¾¾ SSC GD 13

¾¾ SSC MTS 5

¾¾ SSC Stenographer 12

¾¾ SSC CHSL (Tier-I) 10

¾¾ SSC CPO 11

¾¾ SSC CGL (Tier-I) 9

¾¾ SSC CGL (Tier-II) 19
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12. Question Tag Type-A: Fill in the 

Blanks

¾¾ SSC MTS 6 50

Questions 

With  

Solution

180-184

¾¾ SSC Stenographer 1

¾¾ SSC CHSL (Tier-I) 2

¾¾ SSC CPO 1

¾¾ SSC CGL (Tier-I) 5

Type-B: Common 

Errors

¾¾ SSC GD 2

¾¾ SSC MTS 2

¾¾ SSC Stenographer 1

¾¾ SSC CPO 1

¾¾ SSC CGL (Tier-I) 1

Type-C: Sentence 

Improvement

¾¾ SSC GD 7

¾¾ SSC MTS 3

¾¾ SSC Stenographer 7

¾¾ SSC CHSL (Tier-I) 2

¾¾ SSC CPO 3

¾¾ SSC CGL (Tier-I) 5

¾¾ SSC CGL (Tier-II) 1
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13. Active and Passive Voice ¾¾ SSC Stenographer 86 199

Questions 

With  

Solution

185-206

¾¾ SSC CHSL (Tier-I) 47

¾¾ SSC CGL (Tier-I) 46

¾¾ SSC CGL (Tier-II) 20

14. Narration ¾¾ SSC Stenographer 111 202

Questions 

With  

Solution

207-233

¾¾ SSC CHSL (Tier-I) 38

¾¾ SSC CPO 4

¾¾ SSC CGL (Tier-I) 33

¾¾ SSC CGL (Tier-II) 16
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15. Synonyms Type-A: Words Based 

Synonyms

¾¾ SSC GD 48 702

Questions 

With  

Solution

234-286

¾¾ SSC MTS 90

¾¾ Delhi Police Head Constable 2

¾¾ SSC Stenographer 83

¾¾ SSC CHSL (Tier-I) 181

¾¾ SSC CHSL (Tier-II) 3

¾¾ SSC CPO 96

¾¾ SSC CGL (Tier-I) 80

¾¾ SSC CGL (Tier-II) 10

Type-B: Sentences 

Based 

Synonyms

¾¾ SSC GD 34

¾¾ SSC MTS 9

¾¾ Delhi Police Head Constable 9

¾¾ SSC Stenographer 10

¾¾ SSC CHSL (Tier-I) 29

¾¾ SSC CPO 8

¾¾ SSC CGL (Tier-I) 3

¾¾ SSC CGL (Tier-II) 7

16. Antonyms Type-A: Words Based 

Antonyms

¾¾ SSC GD 96 813

Questions 

With  

Solution

287-347

¾¾ SSC MTS 78

¾¾ Delhi Police Head Constable 1

¾¾ SSC Stenographer 110

¾¾ SSC CHSL (Tier-I) 180

¾¾ SSC CHSL (Tier-II) 1

¾¾ SSC CPO 119

¾¾ SSC CGL (Tier-I) 127

¾¾ SSC CGL (Tier-II) 2

Type-B: Sentences 

Based 

Antonyms

¾¾ SSC GD 21

¾¾ SSC MTS 13

¾¾ Delhi Police Head Constable 8

¾¾ SSC Stenographer 2

¾¾ SSC CHSL (Tier-I) 25

¾¾ SSC CHSL (Tier-II) 1

¾¾ SSC CPO 16

¾¾ SSC CGL (Tier-I) 1

¾¾ SSC CGL (Tier-II) 12
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17. One Word Substitution ¾¾ SSC GD 63 607

Questions 

With  

Solution

348-397

¾¾ SSC MTS 101

¾¾ Delhi Police Head Constable 14

¾¾ SSC Stenographer 6

¾¾ SSC CHSL (Tier-I) 169

¾¾ SSC CHSL (Tier-II) 5

¾¾ SSC CPO 119

¾¾ SSC CGL (Tier-I) 103

¾¾ SSC CGL (Tier-II) 27
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18. Idioms and Phrases Type-A: Words Based 

Idioms and 

Phrases

¾¾ SSC GD 131 817

Questions 

With  

Solution

398-456

¾¾ SSC MTS 100

¾¾ Delhi Police Head Constable 4

¾¾ SSC Stenographer 70

¾¾ SSC CHSL (Tier-I) 124

¾¾ SSC CHSL (Tier-II) 2

¾¾ SSC CPO 72

¾¾ SSC CGL (Tier-I) 111

¾¾ SSC CGL (Tier-II) 14

Type-B: Sentences 

Based 

Idioms and 

Phrases

¾¾ SSC GD 35

¾¾ SSC MTS 28

¾¾ Delhi Police Head Constable 5

¾¾ SSC Stenographer 31

¾¾ SSC CHSL (Tier-I) 28

¾¾ SSC CHSL (Tier-II) 3

¾¾ SSC CPO 45

¾¾ SSC CGL (Tier-I) 7

¾¾ SSC CGL (Tier-II) 7
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19. Correctly & 

Incorrectly Spelt 

Words

Type-A: Words Based 

Spelt Word

¾¾ SSC GD 64 460

Questions 

With  

Solution

457-488

¾¾ SSC MTS 33

¾¾ Delhi Police Head Constable 2

¾¾ SSC Stenographer 3

¾¾ SSC CHSL (Tier-I) 67

¾¾ SSC CHSL (Tier-II) 3

¾¾ SSC CPO 66

¾¾ SSC CGL (Tier-I) 69

¾¾ SSC CGL (Tier-II) 8

Type-B: Sentences 

Based Spelt 

Word

¾¾ SSC GD 44

¾¾ SSC MTS 15

¾¾ Delhi Police Head Constable 5

¾¾ SSC CHSL (Tier-I) 34

¾¾ SSC CHSL (Tier-II) 3

¾¾ SSC CPO 13

¾¾ SSC CGL (Tier-I) 14

¾¾ SSC CGL (Tier-II) 17
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20. Homonyms ¾¾ SSC GD 22 53

Questions 

With  

Solution

489-493

¾¾ Delhi Police Head Constable 7

¾¾ SSC CHSL (Tier-I) 9

¾¾ SSC CHSL (Tier-II) 1

¾¾ SSC CGL (Tier-II) 14

21. Sentence Re-arrangement & Para-Jumbled ¾¾ SSC MTS 6 350

Questions 

With  

Solution

494-535

¾¾ Delhi Police Head Constable 9

¾¾ SSC Stenographer 83

¾¾ SSC CHSL (Tier-I) 102

¾¾ SSC CHSL (Tier-II) 5

¾¾ SSC CGL (Tier-I) 97

¾¾ SSC CGL (Tier-II) 48

22. Cloze Test or Numbered Gaps ¾¾ SSC GD 175 951

Questions 

With  

Solution

536-596

¾¾ SSC MTS 80

¾¾ Delhi Police Head Constable 10
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¾¾ SSC CHSL (Tier-I) 150
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¾¾ SSC CGL (Tier-I) 241



( xiii )

Chapter 

No.
Chapter Name

Exam Name

(Best Questions Covered till 

March 2024)

No. of 

Ques.

Total 

Questions

Page 

No.

23.  Reading Comprehension Passages ¾¾ SSC MTS 5 493

Questions 

With  

Solution

597-654

¾¾ SSC Stenographer 250

¾¾ SSC CHSL (Tier-I) 5

¾¾ SSC CHSL (Tier-II) 16

¾¾ SSC CPO 100

¾¾ SSC CGL (Tier-I) 30

¾¾ SSC CGL (Tier-II) 87

24. Miscellaneous: Super昀氀uous Expressions, Fill 
in the Blanks, Phrasal Verbs & Proverbs etc.

132

Questions 

With  

Solution

655-664

Total Question Quantity 7779
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Type A : Fill in the Blanks 

All Time Best Questions

SSC GD

1. Select the most appropriate option to 昀椀ll 
in the blank.

............ is the scienti昀椀c study of material 
remains like relics and monuments of 
past human life.
(A) Geology (B) Theology
(C) Biology (D) Archaeology

[SSC GD 13-2-2023 Shift-I]

2. Select the most appropriate option to 昀椀ll 
in the blanks in the given sentence.

Shelley is good at ............ and also has 
a new ............ of the Oxford dictionary 
launched last month.
(A) addition, edition
(B) edition, addition
(C) edition, edition
(D) addition, addition

[SSC GD 7-2-2023 Shift-I]

3. Select the most appropriate option to 昀椀ll 
in the blank.

A feeling comes over one that so much 
evil and misfortune ............ the world 
that a little more or less does not make 
much difference. 
(A) had shadowed (B) shadowing
(C) shadow (D) shadowed

[SSC GD 7-2-2023 Shift-III]

4. Select the most appropriate option to 昀椀ll
in the blanks and make the sentence
meaningful.
She hurt her ............ and ............ .
(A) Heal; toe (B) Heal; tow
(C) Heel; tow (D) Heel; toe

[SSC GD 1-2-2023 Shift-II]

5. Select the most appropriate option to 

昀椀ll in te blanks and make the sentence 
meaningful.
I taught my son the ............ way to tie 
a............ .

(A) Write, not (B) Write, knot
(C) Right, not (D) Right, knot

[SSC GD 31/1/2023 Shift-IV]

6. Select the most appropriate set of words 
to complete the sentence. 

I will not spend a single ............ on a 
bottle of perfume until I know that I love 
its ............

(A) Scent; cent (B) Cent; scent
(C) Scent; sent (D) Sent; cent

[SSC GD 27/1/2023 Sh昀椀t-III]
7. Select the most appropriate option to 

昀椀ll in the blanks and make the sentence 
meaningful.
The ............ from my window is of the 
............ .

(A) seen; sea (B) scene; sea
(C) scene; see (D) seen; see

[SSC GD 16/01/2023 Shift-III]

8. Select the most appropriate option to 昀椀ll 
in the blank.

The judge had to free the young man 
because there was no ............ against 
him.

(A) Cause (B) Evidence
(C) Belief (D) Excuse 

[SSC GD 10/12/2021 Shift-I]

9. Select the most appropriate option to 昀椀ll 
in the blank.

Besides having a good a academic 
record, it is important that you learn how 
to face an interview with ............ and 
self–con昀椀dence.
(A) ease (B) counsel
(C) adaptation (D) experience

 [SSC GD 16/11/2021 Shift-II]

10. Select the most appropriate option to 昀椀ll 
in the blank.

For a member to borrow money from the 
association, three ............ need to be met.
(A) accounts (B) conditions
(C) points (D) restrictions

 [SSC GD 16/11/2021 Shift-III]

11. Select the most appropriate option to 昀椀ll 
in the blank.

Editing involves ............ and correction 
with an intention to produce accurate 
work.

(A) modi昀椀cation (B) modulation
(C) forti昀椀cation (D) habitation

[SSC GD 17/11/2021 Shift-III]

12. Select the most appropriate option to 昀椀ll 
in the blank.

Hill stations like Darjeeling and Nainital 
offer ............ to weary tourists during 
summer. 

(A) activity (B) solace
(C) aid (D) strain    

 [SSC GD 18/11/2021 Shift-I]

13. Select the most appropriate option to 昀椀ll 
in the blank.

People of the same ............ are not 
allowed to get married in her country.
(A) clum (B) clot
(C) clam (D) clan 

[SSC GD 24/11/2021 Shift-II]

14. Select the most appropriate option to 昀椀ll 
in the blank.

Permanent tissues are derived from 
meristematic tissues once they lose their 
............ to divide.
(A) intellectuality (B) sentimentality 
(C) ability (D) con昀椀dentially

 [SSC GD 26/11/2021 Shift-I]

15. Select the most appropriate option to 昀椀ll 
in the blank.

The word 'ecology' refers to the pattern 
and ............ of relationships among 
plants, animals and people and their 
environment.

(A) balance (B) policy
(C) plan (D) outline 

[SSC GD 26/11/2021 Shift-II]

16. Select the most appropriate option to 昀椀ll 
in the blank.

The paintings on the church altar seem to 
be in need of ............ 
(A) redecoration  (B) renovation 
(C) reconstruction (D) restoration

 [SSC GD 26/11/2021 Shift-III]

17. Select the most appropriate option to 昀椀ll 
in the blank.

The heavy rain affected ............ so much 
that we could not proceed further.
(A) distance  (B) visibility
(C) scene (D) outlook 

[SSC GD 01/12/2021 Shift-I]

18. Select the most appropriate option to 昀椀ll 
in the blank.

Giant pandas are black-and-white 
Chinese bears that are on the ............ of 
extinction.
(A) line (B) verge
(C) margin (D) peak

[SSC GD 02/12/2021 Shift-II]

Chapter
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19. Select the most appropriate option to 昀椀ll 
in the blank.

It is a well-known fact that air pollution 
has a terrible ............ on the health of 
people.

(A) effect (B) shock
(C) problem (D) force 

[SSC GD 06/12/2021 Shift-I]

20. Select the most appropriate option to 昀椀ll 
in the blank.

Because of the loss of ............ and lack 
of food, animals are forced to enter 
villages.

(A) ecosystem (B) habitats
(C) culture (D) grasslands  

[SSC GD 09/12/2021 Shift-II]

21. Select the most appropriate option to 昀椀ll 
in the blank.

The man felt exhausted after climbing a 
............ of stairs.
(A) 昀氀ight (B) heap
(C) pack (D) 昀氀eet

[SSC GD 13/12/2021 Shift-III]

SSC MTS

22. Select the most appropriate option to 昀椀ll 
in the blank.

The girl ran into the house to get some 
............ of bread, cold potatoes and other 
such morsels as were suitable for the 
fowls.
(A) shells (B) heaps
(C) bars (D) crumbs

[MTS, 11-07-2022 Shift-2]

23. Select the most appropriate option to 昀椀ll 
in the blank.

As he went through the street on an 
............ that morning, he saw a woman 
with a cat under her arm.
(A) amendment (B) objection
(C) encasement (D) errand

[MTS, 12-07-2022 Shift-2]

24. Select the most appropriate option to 昀椀ll 
in the blank.

The reality of the effects of rising 
aviation industry emissions on climate 
change has been known for decades, 
yet the industry and its emissions has 
continued to grow without .............
(A) easiness (B) constraint
(C) comfort (D) neglect

[MTS, 15-07-2022 Shift-1]

25. Select the most appropriate option to 昀椀ll 
in the blank.

The skill of execution is viewed as 
inseparable from art, and mastery of 
technical problems is a ............ for 
producing expressive interpretations.
(A) precondition (B) percussion
(C) premonition (D) parasite

[MTS, 19-07-2022 Shift-3]

26. Select the most appropriate option to 昀椀ll 
in the blank.

We are ............ to the true legacy of 
humanism, and we must never forget 
this.

(A) hares (B) here
(C) heirs (D) hair

[MTS, 20-07-2022 Shift-2]

27. Select the most appropriate option to 昀椀ll 
in the blank.

The peanut stove, which is so often seen 
on the ............, just outside the fruit-
shops, makes us think of the familiar 
street scene at home.

(A) runway (B) footpath
(C) building (D) market

[MTS, 25-07-2022 Shift-3]

28. Select the most appropriate option to 昀椀ll 
in the blank.

They looked at each other for a moment 
without speaking and then fell into a 
............ .

(A) conversation (B) con昀椀dence
(C) conversion (D) conviction

[SSC MTS, 6-7-2021 Shift-3]

29. Select the most appropriate word to 昀椀ll 
in the blank.

The CBSE has decided on a ............ to 
assign marks for the examinations not 
taken by class 12 students.
(A) fomulae (B) equation
(C) formula (D) formation

[SSC MTS, 12-7-2021 Shift-2]

30. Select the most appropriate word to 昀椀ll 
in the blank.

These days you get very good ............ if 
you buy consumer goods online.
(A) objects (B) deals
(C) spaces (D) covers

[SSC MTS, 13-7-2021 Shift-1]

31. Select the most appropriate option to 昀椀ll 
in the blank.

The parents of the lost boy have 
announced ............ for information about 
their child.
(A) an award (B) a reward
(C) a prize (D) a pro昀椀t

[SSC MTS, 6-7-2021 Shift-1]

32. Select the most appropriate word to 昀椀ll 
in the blank.

The ............ of an atom of oxygen 
is different from that of an atom of 
hydrogen.
(A) value (B) procedure
(C) structure (D) position

[SSC MTS, 12-7-2021 Shift-2]

33. Select the most appropriate word to 昀椀ll 
in the blank.

I receive a lot of ............ from my family 
members, who are very encouraging.
(A) expectation (B) invitation

(C) ambition (D) inspiration

[MTS (Non-Tech.) 12-10-2021 Shift-I]

34. Select the most appropriate option to 昀椀ll 
in the blank.

If you damage the property of others you 
are under a legal ............ to pay for the 
repairs.

(A) obligation 

(B) acknowledgement
(C) requirement
(D) appreciation

[SSC MTS, 21-7-2021 Shift-1]

35. Select the most appropriate word to 昀椀ll 
in the blank and make a meaningful 
sentence.

The common occurrences of fatigue 
and ............ decrease when we listen to 
music.
(A) depletion (B) distaste
(C) boredom (D) liveliness

[MTS (Non-Tech.) 14-08-2019 Shift-III]

36. Select the most appropriate option to 昀椀ll 
in the blank.

These words of comfort, uttered with 
cheering tones, and accompanied with 
a look of inexpressible tenderness and 
............ brought back peace for a while to 
her troubled spirit. They communicated 
together and on parting the magnanimous 
woman once more embraced her young 
friend; then stretching her hand toward 
heaven, said, “Be tranquil, Marial by 
tomorrow morning we are there, and all 
out sorrows stay here behind us.”
(A) disruption (B) agitation
(C) anxiety (D) serenity

[MTS (Non-Tech.) 14-08-2019 Shift-III]

SSC Stenographer

37. Select the most appropriate option to 昀椀ll 
in the blank.

Yoga increases physical and mental 
vitality, ________ to sickness, and 
overall well-being.

  (A)  acceptance (B) resistance
  (C)  assistance (D) competence

[SSC Steno. 12-10-2023 Shift-II]

38. In the following passage, some words 
have been deleted. Read the passage 
carefully and select the most appropriate 
option to 昀椀ll in the blanks.
Scientists have determined that the 
human tongue is attuned to several (1) 
............ like sweet, salty, bitter, sour, 
savoury and possibly fat. Telling the 
difference between these tastes was 
crucial for human (2) .............
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(A) relish, live
(B) flavours, existence
(C) season; reality
(D) tang; alive

[SSC Steno. Gr. C, D 18.11.2022 Shift-II]

39. Select the most appropriate option to 昀椀ll 
in the blanks.

The blue whale is the largest animal that 
ever lived. The largest ............ grow to 
the length of a basketball court. A blue 
whale's heart is as big as a compact car. 
Its tails 昀氀ukes are as wide as a soccer 
goal. These animals were hunted nearly 
to their ............ .

(A) specimens, extinction
(B) sample, removal
(C) pattern; eradication
(D) modal; elimination

[SSC Steno. Gr. C, D 17.11.2022 Shift-I]

40. Select the most appropriate option to 昀椀ll 
in the blanks.

Chameleons can change their colour in 
an instant in order to blend with their 
background. They also have the ............
to move each of their eyes independently. 
They are also capable of looking in any 
direction. Chameleons feed on insects. 
They catch them with the help of their 
sticky tongue. Did you know they can 
shoot out their tongue farther-more than 
the ............ of their own head and body 
combined!
(A) propensity span
(B) power, breadth
(C) means, width
(D) ability, length

[SSC Steno. Gr. C, D 17.11.2022 Shift-III]

41. Fill in the blank with the most appropriate 

word.
   Please put your ............ on the dotted line.

(A) sign (B) inscription
(C) salutation (D) signature

[SSC Steno. Gr. C, D 24-12-2020 Shift-II]

42. Select the most appropriate option to 昀椀ll 
in the blank

............ can prove fatal when operating 
complicated machinery.
(A) Tiredness (B) Nervousness
(C) Negligence (D) Disturbance 

[SSC Steno. Gr. C, D 07.02.2019 Shift-II]

43. Select the most appropriate option to 昀椀ll 
in the blank.

Napping can do as much to improve 
someone's ............ as a balanced diet and 
exercise can.
(A) knowledge
(B) familiarity
(C) ef昀椀ciency
(D) de昀椀ciency

[SSC Steno. Gr. C, D 8-09-2019 Shift-II]

SSC CHSL (Tier-I)

44. Fill in the blank with an appropriate 

option.

David always kept his ............ open for 
anything that might put them at risk.
(A) starry eyes (B) sheep eyes
(C) black eye (D) eagle eyes

[SSC CHSL 17-3-2023 Shift-III]

45. Fill in the blank with an appropriate 

option.

In this engineering design project you 
will learn how to build an in昀椀nity mirror, 
with built-in lights that make. the mirror 
look like a deep ............ with no end.
(A) signal  (B) lodge
(C) tunnel  (D) funeral

[SSC CHSL 10-3-2023 Shift-III]

46. Select the most appropriate option to 昀椀ll 
in the blank.

The Young Global Leaders Community 
is an ............ for a dynamic community 
of exceptional people with the vision, 
courage and in昀氀uence to drive positive 
change in the world.
(A) impediment (B) effort
(C) accelerator (D) input

[SSC CHSL 6-6-2022 Shift-II]

47. Select the most appropriate option to 昀椀ll 
in blank.

Delhi University’s new institution called 
School of Public Health will offer a 
............ of  programs.
(A) few (B) scale
(C) branch (D) plethora

[SSC CHSL 12-08-2021 Shift-II]

48. Select the most appropriate word  to 昀椀ll 
in the blank.

The jail ............ have started yoga and 
meditation classes for the inmates.
(A) people (B) authorities
(C) residents (D) workers

[SSC CHSL 11-08-2021 Shift-III]

49. Select the most appropriate word to 昀椀ll 
in the blank.

The government is making air bags 
............ for front seat passengers in all 
cars.

(A) registered (B) suggested
(C) temporary (D) compulsory

[SSC CHSL 10-08-2020 Shift-II]

50. Select the most appropriate word to 昀椀ll 
in the blank.

This training programme for students 
will help the ............ understand the 
different methods of communication.
(A) organizers (B) participants
(C) critics (D) trainers

[SSC CHSL 12-04-2021 Shift-III]

51. Select the most appropriate word to 昀椀ll 
in the blank.

Have you thought about the ............ of 
the recent decision you took?

(A) complexes (B) conclusions
(C) consequences (D) concerns

[SSC CHSL 9-8-2021 Shift-I]

52. Select the most appropriate word to 昀椀ll 
in the blank.

For each question, four ............ are given 
as options.

(A) alterations (B) alternatives
(C) altercations (D) alternates

[SSC CHSL 19-4-2021 Shift-III]

53. Select the most appropriate word to 昀椀ll 
in the blank.

If our product does not meet your 
............, we will refund your payment 
in full.
(A) requirements (B) advertisement
(C) procurements (D) principles

[SSC CHSL 16-4-2021 Shift-II]

54. Select the most appropriate option to 昀椀ll 
in the blank.

Courts are ............ of the Constitutions 
they are expected to see that it is always 
respected.
(A) masters (B) dictators 
(C) sentinels (D) leaders

[SSC CHSL 15-4-2021 Shift-II]

55. Fill in the blank with most appropriate 

word.
The air ............ has gone up signi昀椀cantly.
(A) fare (B) cost
(C) rent (D) charge

[SSC CHSL 10-8-2021 Shift-I]

56. Select the most appropriate word to 昀椀ll 
in the blank.

In ............ of the great work he is doing 
for economically weaker children, he has 
been given a special award.
(A) resolution (B) recognition
(C) award (D) reward

[SSC CHSL 19-10-2020 Shift-I]

57. Select the most appropriate option to 昀椀ll 
in the blank.

Several environmentalists from the city 
conducted a meet to discuss issues related 
to the ............ pollution levels created by 
the growing number of pharmaceutical 
companies.

(A) raise in  (B) rise in
(C) rising from  (D) raising of

[SSC CHSL 17-03-2020 Shift-I]

58. Select the most appropriate option to 昀椀ll 
in the blank in the given sentence.

Over 7,50,000 people from 192 countries 
have pledged to go vegan for a month 
which, they say, would reduce carbon 
............ by 45000 tons.
(A) inclusion (B) emission
(C) omission (D) exclusion 

[SSC CHSL 15-10-2020 Shift-I]
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59. Select the most appropriate word to 昀椀ll 
in the blank.

Around one hundred ............ across the 
world participated in the conference.
(A) clever (B) talents
(C) delegates (D) intelligent 

[SSC CHSL 14-10-2020 Shift-I]

60. Select the most appropriate option to 昀椀ll 
in the blank in the given sentence. 

Students who are capable of 
understanding and managing their 
‘emotional intelligence do better at 
school in ............ to their peers who lack 

the ability.
(A) difference (B) resemblance
(C) comparison (D) similarity

[SSC CHSL 14-10-2020 Shift-III]

61. Select the most appropriate word to 昀椀ll 
in the blank.

Financial Institutions that had their 
premises in the World Trade Centre 
were crippled by the loss of ............ and 
hardware.
(A) individual (B) personnel
(C) group (D) person

[SSC CHSL, 02-07-2019 Shift-III]

62. In the following question, the sentence 
given with blank to be filled in with 
an appropriate word. Select the correct 
alternative out of the four and indicate it 
by selecting the appropriate option.
Egoism is ............ or negative pride-the 
mentality of showing and acting superior 
to others.

(A) surfeit (B) conceit
(C) forfeit (D) receipt

[SSC CHSL, 12.03.2018 Shift-III]

63. In the following questions, the sentence 
given with blank to be filled in with 
an appropriate word. Select the correct  
alternative out of the four and indicate it 
by selecting the appropriate option. 
The ............ of many archaic and dilatory 
procedures have proved to be extremely 
damaging to our governance and society.
(A) caution (B) translation
(C) imposition (D) revolution

[SSC CHSL, 08.03.2018 Shift-I]

SSC CPO

64. Select the most appropriate words to 昀椀ll 
in the blanks. 
For years Indians looking for meaty 
............ have been stuck with the ............
soya nuggets.
(A) Substitutes ; regional
(B) substitutes ; ubiquitious
(C) alternates ; golbal

(D) alternative ; zonal
[SSC CPO, 16-03-2019, Shift-I]

65. Select the most appropriate word to 昀椀ll 
in the blank.

During the Great Depression America’s 
dance marathon craze was more of a 
............ strategy than a form of ............
(A) basic; entertainment

(B) fundamental; celebration
(C) survival; entertainment
(D) survival; education

[SSC CPO, 16-03-2019, Shift-II]

66. Select the most appropriate word to 昀椀ll 
in the blank.

Trachoma is a debilitating and painful 
............ which can cause the eyelashes to 
turn inwards and stab the eye.
(A) taint (B) infection
(C) contagion (D) factor

[SSC CPO, 16-03-2019, Shift-II]

67. Select the most appropriate word to 昀椀ll 
in the blanks.

War photographers use black and white 
pictures as ............ because they will 
shout and scream at you. You won't 
............ the black and white, but you 
could walk past a colour picture.
(A) weapon; miss

(B) weapon; like
(C) speaker; ignore

(D) strategy; consider
[SSC CPO, 15-03-2019, Shift-II]

68. Select the most appropriate word to 昀椀ll 
in the blanks.

Scientists have identi昀椀ed ............ regions 
that make people ............ tasks rather 

than tackling them immediately.
(A) mind; prepone (B) head; differ
(C) face; postpone (D) brain; defer

[SSC CPO, 15-03-2019, Shift-II]

69. Select the most appropriate word to 昀椀ll 
in the blanks.

In general Earth's magnetic ............ is 
getting weaker, leading scientists to 
say that it will eventually 昀氀ip, like a bar 
............ 昀氀ipping over.
(A) area; tender
(B) 昀椀eld; magnet
(C) ground; chocolate
(D) power; gymnast

[SSC CPO, 15-03-2019, Shift-II]

70. Select the most appropriate word to 昀椀ll 
in the blanks.

Earth's north magnetic ............ has been 
drifting so fast in the last few decades 
that scientists say that past estimates are 
no longer accurate enough for precise 
............ .

(A) zone; navigation

(B) area; estimates
(C) pole; navigation

(D) region; estimates
[SSC CPO, 15-03-2019, Shift-II]

71. In the following question, the sentence 
given with blank is to be 昀椀lled in with an 
appropriate word.
Select the correct alternative out of the 
four.
With his political ............ , the Party 
President deftly handled the rebellion.
(A) temperament (B) sagacity
(C) attitude (D) inexperience

[SSC CPO, 17-01-2017, Shift-II]

Direction (Q. No. 72 to 75)

In the following four questions, sentences 
given with blanks to be 昀椀lled in with an 
appropriate word(s). Four alternatives are 
suggested for each question. Choose the 
correct alternative out of the four options.

[SSC CPO, 21-03-2017, Shift-I]

72. I appreciate my neighbour's ............ as she 
explained the reason for selling her house.
(A) candid (B) candour
(C) care (D) capacity

[SSC CPO, 06-06-2016, Shift-I]

73. He studied ............ that were ............ to 
his 昀椀eld of enquiry.
(A) magazines ; irrelevant

(B) newspapers ; lethal
(C) blogs ; extraneous
(D) research papers ; germane

[SSC CPO, 04-06-2016, Shift-I]

74. The committee's primary job was to act 
as ............ between the management and 
the ............ .

(A) a broker; administration
(B) an intermediary; public sector
(C) a mediator; union workers
(D) a referee; private sector

[SSC CPO, 04-06-2016, Shift-I]

75. Hundreds of ............ have been used in the 
study of the past and of man’s progress.
(A)  stories (B) tales
(C) methods (D) motions

[SSC CPO, 06-07-2016, Shift-I]

SSC CGL (Tier-I)

76. Select the most appropriate option to 昀椀ll 
in the blank.

The little boy demanded colourful  
balloons, ribbons in the village fair. 
When the father didn't pay heed to his 
demands, the boy made a ............ .
(A) A far cry  (B) Jaundiced eye
(C) Cloven hoof (D) Wry face

[SSC CGL 02-12-2022 Shift-II]

77. Select the most appropriate option to 昀椀ll 
in the blank. 

The invention of fertilisers and 
insecticides has increased agricultural 
............ which is required to feed the 
swelling population of the world. 
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(A) output (B) product 
(C) cargo (D) goods

[CGL 23-8-2021 (Shift-III)]

78. Select the most appropriate option to 昀椀ll 
in the blank. 

I read some ............ of properties for sale 
on the Internet before I called the agent. 
(A) descriptions  (B) arguments 
(C) monologues  (D) spaces 

[CGL 16-8-2021 (Shift-II)]

79. Select the most appropriate option to 昀椀ll 
in the blank. 

The interviewer asked Gautam, “Can you 
tell me what your ............ in life are?” 
(A) determinations  (B) frivolities 
(C) trivialities  (D) aspirations

[CGL 13-8-2021 (Shift-II)]

80. Select the most appropriate option to 昀椀ll 
in the blank.

Social isolation, overcrowding, the 
............ of our society and several other 
factors are responsible for stress.
(A) competitiveness

(B) cheapness
(C) attractiveness

(D) affordability
[SSC CGL 17-08-2021 Shift-I]

81. Select the most appropriate option to 昀椀ll 
in the blank.

My neighbour was admitted to the 
hospital when he developed an allergic 
............ to some medicine he took.
(A) retort (B) reaction
(C) rejoinder (D) result

[SSC CGL 20-08-2021 Shift-I]

82. Select the most appropriate option to 昀椀ll 
in the blank.

The worst possible ............ for human 
society is that we will destroy ourselves 
with nuclear weapons.

(A) perceptive (B) presentation
(C) prediction (D) privilege

[SSC CGL 24-08-2021 Shift-III]

83. Fill in the blank with the most appropriate 

word.
The minister gave an ............ that 
strict action would be taken against the 
culprits.
(A) ambition

(B) assurance
(C) insurance
(D) admission

[CGL Exam.-19, 07-03-2020 Shift-I]

84. Select the most appropriate word to 昀椀ll 
in the blank.

Around sixty bands in colourful ............
took part in the Notting Hill Carnival.
(A) apparels (B) dressing
(C) clothings (D) costumes

[SSC CGL 04-06-2019  Shift-II]

85. Select the most appropriate word to 昀椀ll 
in the blank.

Talgo, a Spanish company is one of the 
major ............ of intercity, standard, and 
high speed passenger trains.
(A) constructors (B) builders
(C) creators (D) manufacturers

[SSC CGL 07-06-2019 Shift-I]

86. Select the most appropriate option to 昀椀ll 
in the blank.

A colourful cyclothon was organised on 
the ............ of World Sparrow Day to 
mark the progress of making Ganjam the 
昀椀rst sparrow-friendly district of Odisha.
(A) occasion (B) festivity
(C) event (D) project

[SSC CGL 19-6-2019 Shift-III]

87. Select the most appropriate word to 昀椀ll 
in the blank.

There is hope that better forestry 
management will help in the ............ 

of the wild life that is constantly facing 
threat because of increasing human 
activities.

(A) guarding (B) supervision
(C) salvation (D) conservation

[SSC CGL 06-06-2019 Shift-I]

88. Select the most appropriate option to 昀椀ll 
in the blank.

In many countries the ............ in pay for 
men and women is quite common, for 
example, in Germany women are paid 
21 percent less as compared to men.
(A) disagreement (B) disparity
(C) unlikeliness (D) equivalence

[SSC CGL 06-06-2019 Shift-II]

89. Select the most appropriate option to 昀椀ll 
in the blank.

Catholics and Protestants have a long 
history of ............ in Northern Ireland 
but volunteers from both communities 
came together to build the monument of 
peace.

(A) con昀氀ict (B) truce
(C) agreement (D) contest

[SSC CGL 06-06-2019 Shift-II]

Direction (Q. No. 90 to 93)

In the following questions, the sentence given 
with blank to be 昀椀lled in with an appropriate 
word. Select the correct alternative out of 
the four and indicate it by selecting the  
appropriate option.

90. As a 昀椀tness ............, Deepti is always 
preaching to her friends about the 
importance of working out.
(A) enthusiasm (B) enthusiast
(C) enthusiastic (D) enthusiastically

[SSC CGL 19-08-2017 Shift-III]

91. The ............ "pretty ugly" implies that 
a person can be both attractive and 
unattractive at the same time.
(A) simile (B) metaphor
(C) alliteration (D) oxymoron

[SSC CGL 21-08-2017 Shift-I]

92. The president’s coterie of advisers was 
unable to offer him a ............ to the 
national problem.

(A) solvent (B) solute
(C) solution (D) mixture

[SSC CGL 23-08-2017 Shift-II]

93. Since my father was an ............ from 
India, he brought his Indian culture and 
traditions to the United States with him.
(A) emigrant (B) immigrant
(C) native (D) citizen

[SSC CGL 23-08-2017 Shift-III]

94. The sentence given with blank is to 
be filled with an appropriate word. 
Four alternatives are suggested for the 
question. Choose the correct alternative. 
If you have roses growing in your 
garden, you can make a lovely ............ 
of 昀氀owers at home.
(A) bouqutte (B) bucquete
(C) bouquete (D) bouquet

[SSC CGL 21-04-2013 Shift-II]

SSC CGL (Tier-II)

95. Select the most appropriate option to 昀椀ll 
in the blank.

  'Habitual' may be replaced by '_______'.
  (A) Temperate (B) Stagnant
  (C) Holistic (D) Continual

[SSC CGL 19-07-2023 Shift-I]

96. Select the correct homonym from the 
given options to 昀椀ll in the blank.
The Athlete’s ............ was badly injured 
due to a fall on the track.
(A) toad (B) to
(C) toe (D) tow

[SSC CGL 07-03-2023 CBE Exam]

97. Select the correct homonym from the 
given options to 昀椀ll in the blank.
Which ............ does the minister take to 
reach the Assembly?
(A) root (B) rot
(C) route (D) riot

[SSC CGL 02-03-2023 CBE Exam]

98. In the following questions, the sentence 
given with blank is to be 昀椀lled in with 
an appropriate word. Select the correct 
alternative out of the four.
An unwritten constitution develops 
and expands with the development of 
the nation and ultimately becomes the 
............ of the public opinion.
(A) symbol (B) motion
(C) role (D) badge

[SSC CGL 20-02-2018 CBE Exam]
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Type B  : Common Errors 

All Time Best Questions

SSC GD

99. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

We bought / good quality / furnitures / 
for our new house.
(A) for our new house 
(B) furnitures
(C) good quality
(D) We bought 

[SSC GD 23/11/2021 Shift-I]

100. Parts of the given sentence have been 
given as options. One of them contains a 
grammatical error. Select the option that 

has the error.

Children are fond of eating food from 
Mala aunties small shop at the corner of 
the street.

(A) food from 
(B) Mala aunties small shop
(C) are fond of 
(D) at the corner

 [SSC GD 25/11/2021 Shift-II]

101. Parts of the given sentence have been 
given as options. One of them contains a 
grammatical error. Select the option that 

has the error.

Please stay back for Sunnys 昀椀rst birthday 
celebration at Taj West End.
(A) 昀椀rst birthday celebration
(B) at Taj West End
(C) Sunnys
(D) stay back 

[SSC GD 26/11/2021 Shift-I]

102. The following sentence has been split into 
four  segments. Identify the segment that 
contains a grammatical error.

Siddharth made earnest attempts / 
to change / for better, / but nothing 
happened.
(A) for better
(B) to change
(C) but nothing happened
(D) Siddharth made earnest attempts

[SSC GD 01/12/2021 Shift-III]

103. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error. 

The manager told/the staff to complete/
all the works/before going home.
(A) before going home
(B) the staff to complete
(C) The manager told
(D) all the works 

[SSC GD 06/12/2021 Shift-III]

104. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

Last month,/we purchased/electronic 
equipments from/a European country.
(A) we purchased
(B) a European country
(C) electronic equipments from
(D) Last month 

[SSC GD 09/12/2021 Shift-II]

105. The following sentence has been divided 
into parts. One of them may contain an 
error. Select the part that contains the error 

from the given options. If you don't 昀椀nd 
any error, mark 'No error' as your answer.
Mr. Sharma is one of/the best teacher/I 
have ever seen.

(A) the best teacher 

(B) I have ever seen 
(C) Mr. Sharma is one of 
(D) No error 

[SSC GD 10/12/2021 Shift-II]

106. The following sentence has been divided 
into parts. One of them may contain an 
error. Select the part that contains the error 

from the given options. If you don't 昀椀nd 
any error, select 'No error' as your answer.
Jyoti is one of/the best police of昀椀cer/in 
this town.

(A) the best police of昀椀cer
(B) Jyoti is one of 
(C) in this town

(D) No error
 [SSC GD 14/12/2021 Shift-I]

107. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

The examinations/will be pushed back/
so that candidates get additional time/for 
prepare.

(A) The examinations
(B) will be pushed back
(C) for prepare
(D) so that candidates get additional time

 [SSC GD 13/12/2021 Shift-II]

SSC MTS

108. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

  After I complete my training program/will 
have been joining a team of astronauts / 
and preparing to / embark on a mission 
to Mars.

  (A)  After I complete my training 
program

  (B)  I will have been joining a team of 
astronauts

  (C)  embark on a mission to Mars
  (D)  and preparing to

[SSC MTS, 4-9-2023 Shift-III]

109. Identify the segment in the sentence 
which  contains a grammatical error.

Tajaswin, the Indian sportsman, is 
leading the anti-race cause in the US.
(A) Tejaswin, the Indian sportsman
(B) the anti-race cause
(C) in the US
(D) is leading

[SSC MTS, 8-7-2021 Shift-2]

110. Identify the segment in the sentence 
which contains a grammatical error.

I have no inform about today's meeting 
with the Managing Director.
(A) about today's meeting
(B) I have

(C) no inform
(D) with the

[MTS (Non-Tech.) 12-10-2021 Shift-I]

111. The given sentence contains a grammatical 
error. Identify the segment that contains 
the error.

How many does the cricket bat cost?
(A) the cricket bat (B) does
(C) how many (D) cost

[MTS (Non-Tech.) 07-10-2021 Shift-I]

112. Identify the segment in the sentence 
which contains the grammatical error.

This coffee is not available in any of the 
shop in the neighbourhood market.
(A) not available in

(B) in the neighbourhood market
(C) any of the shop
(D) This coffee is

[MTS (Non-Tech.) 14-08-2019 Shift-III]

113. Identify the segment in the sentence 
which contains the grammatical error.

It is not possible to discuss anything with 
her because of her angry.
(A)  possible to discuss
(B)  anything with her
(C)  because of her angry
(D)  It is not

[MTS (Non-Tech.), 2019]

114. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If the sentence is 
free from error, select ‘No Error’.
We need to understand access control 
systems and (1)/methodology, 
telecommunication and network (2)/
security, and security managing practice. 
(3)/No Error (4).
(A) 1 (B) 2
(C) 3 (D) 4

[MTS (Non-Tech.) 25-10-2017 Shift-II]
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115. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If the sentence is 
free from error, select ‘No Error’.
Mathematics increasingly revealed 
truths itself (1)/ that utterly confounded 
the (2)/ expectations of philosophers. 
(3)/ No Error (4).
(A) 1 (B) 2
(C) 3 (D) 4

[MTS (Non-Tech.) 24-10-2017 Shift-III]

116. Find out the error in each of the following 
sentences if any. If there is no error your 
answer is (D). 
The weather (A)/of the new place (B)/
did not suit Ravi. (C)/ No error (D)

[SSC MTS 10.03.2013 Shift-I]

SSC Stenographer

117. The following sentence has been divided 
into parts. One of them may contain an 
error.

Select the part that contains the error 

from the given options. If you don't 昀椀nd 
any error, mark 'No error' as your answer.
Saleem has a tendency to switch/off his 
mobile when things/are not favourable 
for him.
(A) off his mobile when things
(B) are not favourable for him
(C)  No error
(D)  Saleem has a tendency to switch

[SSC Steno. Gr. C, D 18.11.2022 Shift-II]

118. The following sentence has been divided 
into parts. One of them may contain an 
error. Select the part that contains that 

error from the given options. If you don’t 
昀椀nd any error, mark ‘No error’ as your 
answer.

The stationary was evenly distributed 
among all the poor children.
(A) The stationary was
(B) Evenly distributed among
(C) No error
(D) All the poor children

[SSC Steno. Gr. C, D 17.11.2022 Shift-III]

119. The following sentence has been divided 
into parts. One of them may contain an 
error. Select the part that contains that 

error from the given options. If you don’t 
昀椀nd any error, mark ‘No error’ as your 
answer. 

One of my friend called me just as I was 
leaving the classroom.

(A) One of my friend
(B) called me
(C) leaving the classroom

(D) just as I was
[SSC Steno. Gr. C, D 24-12-2020 Shift-II]

Direction (Q. No. 120 and 121)

Identify the segment in the sentence which 
contains the grammatical error.

120. Opening the door of the cage means free 
for the bird.
(A) of the cage
(B) Opening the door
(C) for the bird
(D) means free

[SSC Steno. Gr. C, D 23-12-2020 Shift-II]

121. The furnitures in this shop is very costly.
(A) in this shop 

(B) The furnitures
(C) is

(D) very costly
[SSC Steno. Gr. C, D 05-02-2019 Shift-II]

Direction (Q. No. 122 to 128)

In the following question some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option if a sentence is free 
from error, select or "No error".

122. My mother (A)/ is having (B)/ grey hairs 
(C)/ No Error (D)

[SSC Steno. 14-09-2017 Shift-I]

123. I have written (A)/a letter for the issue 
(B)/ of sports equipments (C)/ No Error 
(D)

[SSC Steno. 14-09-2017 Shift-II]

124. Mr. Roy’s (A)/ eyes widened (B) / in 
surprise. (C) / No Error (D)

[SSC Steno. 14-09-2017 Shift-II]

125. It brings to you a basket of opportunities 
(A)/ that takes you to the positions of high 
(B)/ responsibilities at top corporates. (C)/ 
No Error (D)

[SSC Steno. 13-09-2017 Shift-I]

126. For candidates with work-experience, 
interview (A)/ questions about their 
company test, depth of their knowledge 
(B)/ and understandings of immediate 
environment. (C)/ No Error (D)

[SSC Steno. 13-09-2017 Shift-I]

127. Mrs. Gupta invited (A) / all her daughter-
in-laws (B)/ to the grand party last 
Sunday. (C)/ No Error (D).

[SSC Steno. 13-09-2017 Shift-II]

128. The government (A)/must provide 
facilities for the (B)/upbringing of 
women. (C)/No error (D).

[SSC Steno. Gr. C, D 31-01-2016 Shift-II]

SSC CHSL (Tier-I)

129. Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’
Balloons 昀椀lled with hellium travel 
hundreds or even thousands of mile.
(A) No error
(B) even thousands of mile

(C) travel hundreds or
(D) Balloons 昀椀lled with helium

[SSC CHSL 17-3-2023 Shift-II]

130. Find the part of the given sentence that has 
an error in it. If there is no error, choose 
‘No error’.
I just don’t like the themes of todays 
music.
(A) todays music
(B) No error
(C) like the themes of 
(D) I just don’t 

[SSC CHSL 10-3-2023 Shift-III]

131. In the given sentence, identify the segment 
which contains a grammatical error.

Doctors say that home isolation is far 
more effective than hospitalise in cases 
of mild infection.
(A) isolation is

(B) far more effective
(C) than hospitalise 

(D) Doctors say that
[SSC CHSL 9-8-2021 Shift-I]

132. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

Public speaking/is one of/the most feared 
form/of communication.
(A) the most feared form 
(B) public speaking
(C) of communication 
(D) is one of

[SSC CHSL 19-4-2021 Shift-I]

133. In the given sentence, identify the segment 
which contains a grammatical error.

Each players must play according to his 
full potential and not think only about 
winning.

(A) must play 
(B) each players
(C) according to
(D) only about winning

[SSC CHSL 11-08-2021 Shift-I]

134. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

Please give me/a kilo of potatoes,/two 
kilos of tomatoes and/a bunch coriander 
leaves.

(A) a kilo of potatoes 
(B) a bunch coriander leaves
(C) Please give me 

(D) two kilos of tomatoes and
[SSC CHSL 15-4-2021 Shift-III]

135. In the given sentence identify the segment 
which contains the grammatical error.

The Commonwealth Games had a grand 
opening ceremony with spectacular 
cultural performings.
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(A) with spectacular
(B) a grand opening
(C) cultural performings
(D) The Commonwealth Games had

[SSC CHSL 15-10-2020 Shift-I]

136. Identify the segment which contains the 
grammatical error.

The picture of the king’s is exactly like 
the king himself.
(A) is exactly like 
(B) the picture
(C) the king himself
(D) of the king’s

[SSC CHSL, 08-07-2019 Shift-II]

137. In the following question some part of the 
sentence may have errors, Find out which 
part of the sentence has an error and select 
the appropriate option. If the sentence is 
free from error, select ‘No Error’.
For peace and happiness in the world, (1)/
we need to remind ourselves (2) / of our  
philosophy and cultural. (3) / No error 
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 28.03.2018 Shift-III]

138. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If the sentence is 
free from error, select ‘No Error’.
Our focus is to develop and nurture a 
democratic / and accommodative space/
 (1) (2)
platform wherever we go, / so that all 
kind of arts can 昀氀ouish. / No error 
 (3) (4)
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 26.03.2018 Shift-II]

139. In the following questions, some part of 
the sentence may have errors. Find out 
which part of the sentence has an error and 
select the appropriate option. If a sentence 
is free from error, select ‘No Error’.

Population decline, counter-
urbanisation, 

 (1)
invasion, and /movement of people, 
which 

(2)
has begun in Late /Antiquity, continued 
in the Early Middle Ages.   No error
 (3)   (4)
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 26.03.2018 Shift-III]

140. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 

the appropriate option. If a sentence is free 
from error, select ‘No Error’.
The British Council has brought Museum 
of the Moon to India (1) / to mark the last 
phase of the UK-India Year of Culture 
(2) / and 70 year of the British Council 
in India (3) / No error (4).
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 23.03.2018 Shift-II]

141. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If a sentence is free 
from error, select ‘No Error’
The few crowd / was not surprising / 
 (1)     (2)
considering the publicity involved. 

(3)

No error
(4)

(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 22.03.2018 Shift-II]

142. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If a sentence is free 
from error select ‘No Error’.
Make won all of (1) / the award for 
the categories (2) / in which he was 
nominated   (3) / No error (4).
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 17.03.2018 Shift-III]

143. In the following questions, some part of 
the sentence part of the sentence may have 
errors. Find out which part of the sentence 
has an error and select the appropriate 
option. If a sentence is free from error, 
select ‘No Error’.
All the (1) / furnitures also (2) / burn 
down

 by the 昀椀re. (3) /  No error  (4)
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 16.03.2018 Shift-II]

144. In the following questions, some part of 
the sentence may have errors. Find out 
which part of the sentence has an error and 
select the appropriate option. If a sentence 
is free from error, select ‘No Error’.
We wish to make globalisation a means to 

expand human well-being and freedom, /
(1)

 and to bring democracy and developmental 
(2)

/ to local communities where people live. 
(3)

No error
(4)

(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 11.03.2018 Shift-I]

145. In the following question, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If the sentence is 
free from error, select ‘No Error’.
My best wishes (1) / are always (2) / with 
you. (3) / No error (4)
(A) 1 (B) 2
(C) 3 (D) 4

[SSC CHSL, 06.03.2006 Shift-I]

146. In the given sentence, identify the select 
‘No Error’ segment which contains a 
grammatical error.

A 昀椀ve-men (A)/enquiry committee was 
appointed (B)/to look into the matter. 
(C)/No error (D)

[SSC CHSL, 06-11-2014 Shift-I]

SSC CPO

147. Select the correct option to substitute the 
underlined segment in the given sentence. 
If no substitution is required, select ‘No 
substitution’.

  Her smile is similar to her mother.

  (A)  her mother's
  (B)  No substitution
  (C)  mother

  (D)  the mother
[SSC CPO 4-10-2023 Shift-II]

148. Identify the segment in the sentence 
which contains the grammatical error.

When Alexander the Great died in 
Babylon in 323 B.C., his body didn’t 
begin to show signs of decomposition 
for a full six day, according to historical 
accounts
(A) his body didn’t begin to show
(B) When Alexander the Great died
(C) signs of decomposition for a full six 

day
(D) according to historical accounts

[SSC CPO, 16-03-2019, Shift-II]

149. Identify the segment in the sentence 
which contains the grammatical error. If 
there is no error, select ‘No error’.
Among the reasons cited by the employee 
for quitting the job were the pressure of 
work, the outstation duties and desiring 
to pursue her hobbies.
(A) Among the reasons cited by the 

employee
(B) and desiring to pursue her hobbies
(C) were the pressure of work, the 

outstation duties
(D) No error

[SSC CPO 12-12-2019 Shift-I]
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Direction (Q. No. 150 to 154)

In the following question, some part of the 
sentences may have errors. Find out which 
part of a sentence has an error and select the 
appropriate option. If a sentence is  free from 
error, select No Error.

150. Gurgaon is full of tall buildings which 
is (A)/ at once its strength as well as 
weakness (B)/ depending upon how one 
looks at it. (C)/ No Error (D).

[SSC CPO, 07-07-2017, Shift-I]

151. Three lakhs of people (A)/ attended the 
workshop (B)/ held in Ramleela ground. 
(C)/ No Error (D).

[SSC CPO, 06-07-2017, Shift-I]

152. Three summonses have been (A)/ issued 
by the district court (B)/ but he has not 
turned up yet. (C)/ No Error (D).

[SSC CPO, 03-07-2017, Shift-I]

153. Can you imagine (A)/ that she has thirty 
(B)/ 昀椀ve pair of shoes. (C)/ No Error (D)

[SSC CPO, 02-07-2017, Shift-I]

154. We must (A)/ denounce justice (B)/ and 
oppression. (C)/ No Error (D).

[SSC CPO, 01-07-2017, Shift-II]

155. In the following question, some parts 
of the sentences have errors and some 
are correct. Find out of which part of 
the sentence has an error and choose 
corresponding to the appropriate option. 
If the sentence is free from error choose 
corresponding to 'No Error'.
The economic depression is looming 
large not only over the 昀椀rst-world 
countries but also over the third-world 
countries.
(A) the economic depression is
(B) looming large not only over
(C) but also over the third-world 

countries
(D) No Error

[SSC CPO, 04-06-2016, Shift-I]

SSC CGL (Tier-I)

156. Select the option that contains a 

grammatical error in the underlined 
portion.

There  are three cupholders placed on the 
cupboards of the secretariat table.

(A) There are three cupholders placed  
on the cupboards of the secretariat 
table.

(B) There are three cupholders placed 
on the cupholders of the secretariat 
table.

(C) There are three cupholders placed on 
the cupboards of the secretariat table

(D) There are three cupholders placed 
on the cupboards of the secretariat 
table.

[SSC CGL 03-12-2022 Shift-II]

157. The following sentence has been split into 
four segments. Identify the segment that 
contains a grammatical error.

There have been / three breaks-in / in our 
society / this month.
(A) three breaks-in
(B) this month
(C) in our society
(D) There have been

[SSC CGL 2022]

158. The following sentence has been divided 
into parts. One of them contains an error. 
Select the part that contains the error from 
the given options. 

The Principal requested / the teacher’s/ 
to monitor / and take care of the small 
children. 
(A) The Principal requested 
(B) the teacher’s 
(C) to monitor 

(D) and take care of the small children
[CGL 16-8-2021 (Shift-I)]

159. In the sentence identify the segment 
which contains the grammatical error.

Saraswati college has maintained its 
reputation as one of the best college in 
the country.
(A) Saraswati college has maintained
(B) one of the best college
(C) its reputation as
(D) in the country

[SSC CGL 04-03-2020 Shift-I]

Direction (Q. No. 160 to 164)

The following sentences have been divided 
into parts and named as (A), (B), (C), and 
(D). One of the part contains an error. Find 
the error and mark your answer.

160. My sister-in-laws (A)/ who live in 
Kolkata (B)/ have come to stay with us. 
(C)/ No Error. (D)
(A) A (B) B
(C) C (D) D

[SSC CGL 05-08-2017 Shift-III]

161. Inspite of the doctor’s stern warning (A) 
Latika continued taking (B)/ sugars in her 
milk.(C)/ No Error. (D)
(A) A (B) B
(C) C (D) D

[SSC CGL 10-08-2017 Shift-II]

162. All my hope (A) / were duped (B) / and 
I was plunged in deep sorrow. (C) / No 
Error (D)
(A) A (B) B
(C) C (D) D

[SSC CGL 06-09-2016 Shift-I]

163. The book, being written (A) / in simple 
language, is suitable for children (B) / as 
it contains many good advices. (C) / No 
Error (D)
(A) A (B) B
(C) C (D) D

[SSC CGL 03-09-2016 Shift-III]

164. Every conceivable race and nationality(A)/ 
had its shared of suffering(B) / in the 
world wars (C)/No Error (D).
(A) A (B) B
(C) C (D) D

[SSC CGL 01-09-2016 Shift-III]

165. In the following question, one part of 
the sentence may have an error. Find out 
which part of the sentence has an error 
and click the button corresponding to it. 
If the sentence is free from error, click the 
"No Error" option.
He learnt (A) / the alphabets (B) / at the 
age of four. (C) / No Error (D)
(A) A (B) B
(C) C (D) D

[SSC CGL 30-08-2016 Shift-III]

166. The sentence given with blank is to 
be filled with an appropriate word. 
Four alternatives are suggested for the 
question. Choose the correct alternative. 
In India (A)/working woman lead a life 
of dual responsibilities (B)/if they are 
married and have a family (C)/No error 
(D).

[SSC CGL 21-04-2013 Shift-II]

SSC CGL (Tier-II)

167. Identify the segment in the sentence 
which contains a grammatical error.

The man played the 昀氀ute and led all the 
mouse out of the town.
(A) out of the town
(B) the 昀氀ute and led
(C) The man played
(D) all the mouse

[SSC CGL 16-11-2020 CBE Exam]

Direction (Q. No. 168 and 169)

In the following questions, some part of the 
sentence may have errors. Find out which 
part of the sentence has an error and select 
the appropriate option. If a sentence is free 
from error, select 'No error'.

[SSC CGL 21-02-2018 CBE Exam]

168. Critics of television often (A)/focus on 
the prevalent of (B)/violence in today's 
programmes. (C)/No error (D)

169. Our school’s faculty and administration 
should not (A)/sacri昀椀ce high standards 
and regulations in order (B)/to make 
students temporarily happy. (C)/No 
error (D)

170. In the following questions, some part of 
the sentence may have errors. Find out 
which part of the sentence has an error and 
select the appropriate option. If a sentence 
is free from error, select 'No error'.
Stringent penalties have a lower chance 

(A) / of being imposed, as compared to 
昀椀nes that (B) / are proportionate to the 
offend. (C) / No error. (D)

[SSC CGL 18-02-2018 CBE Exam]
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Type C : Sentence Improvement 

All Time Best Questions

SSC GD

171. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence to make it a meaningful 
sentence. If no substitution is required, 
select 'No substitution'.
There are hundred of superstitions that 
survive in various parts of the country, 
and the study of them is rather amusing.
(A) There are hundred of superstition 

that survived in various parts of the 
country, and the study of them is 
rather amusing.  

(B) No substitution 
(C) There are hundreds of superstitions 

that survive in various parts of the 
country, and the study of them is 
rather amusing. 

(D) There are hundred of superstition 
that survive in various parts of the 
country, and the study of them is 
rather amusing.

[SSC GD 13-2-2023 Shift-II]

172. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence. If the there is no need 
to substitute it, select ‘No substitution’.
Some passengers misplaced their 
luggages before boarding the train.
(A) No substitution 
(B) Misplaced his luggages
(C) Misplaces their luggages 
(D) Misplaced their luggages

[SSC GD 1-2-2023 Shift-II]

173. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence.

He has given us no reason to be 

prestigious of him.

(A) be ambitious (B) be auspicious
(C) be suspicious (D ) be proudly

[SSC GD 27/1/2023 Sh昀椀t-IV]
174. Select the most appropriate option that  

can substitute the underlined segment in 
the given sentence.

Prime Minister Narendra Modi paid 
tribute to Pandit  Jawaharlal Nehru of 
his death day.

(A) death anniversary 
(B) death festivity
(C) death ceremony
(D) death recurrence

[SSC GD 27/01/2023 Shift-II]

175. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence.

We hope these measure will take us 

further to a good position.

(A) Hopes these measures will take us
(B) Hope these measures will taking
(C) Hope those measure will take us
(D) Hope these measures will take us

[SSC GD 16/01/2023 Shift-II]

176. Select the word segment that substitutes 
(replaces) the bracketed word segment 
correctly and completes the sentence 
meaningfully.
People in temperate (country pay little 
attention) to mangroves.

(A) country paid little attention
(B) countries pay little attention
(C) country pays little attention
(D) countries pays little attention

[SSC GD 16/01/2023 Shift-IV]

177. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence.

To insure peace and calm the government 

imposed a countrywide curfew for three 
days.
(A) To insure peace along calm
(B) In to ensure peace and calm
(C) To ensure peace and calm
(D) Insure peace and calm

[SSC GD 13/1/2023 Shift-II]

178. Select the most appropriate option that 

can substitute the underlined segment 
in the given sentence. If there is no need 
to substitute it, select ‘No substitution’.
I visited the hospital to enquire about 
eyes surgery.

(A) No substitution
(B) enquired about eye surgery
(C) enquire about eye surgery
(D) enquire for eyes surgery

[SSC GD 11/01/2023 Shift -I]

179. Select the most appropriate option that 

can substitute the underlined segment 
in the given sentence. If there is no need 
to substitute it, select ‘No substitution’.
They found it dif昀椀cult to extract relevent 
information from the of昀椀cer. 
(A) Relevint (B) No substitution
(C) Relevant (D) Relivant

[SSC GD 11/1/2023 Shift-III]

180. Select the most appropriate option that 

can substitute the underlined segment in  
the given sentence.

As of now, they have 昀椀nished the 
construction of the ground 昀氀our.
(A) Construction of the ground 昀氀ounder
(B) Construction of the ground 昀氀ower
(C) Construction of the ground 昀氀oor
(D) Construction of the ground 昀氀avor

[SSC GD 10/1/2023 Shift-IV]

181. Select the most appropriate option that 

can substitute the underlined word in the 
given sentence.

Indian's secularism and frequency serve 

as a role model to other developing 
countries.
(A) constantly
(B) illiteracy
(C) supremacy
(D) democracy

[SSC GD 03/12/2021 Shift-I]

SSC MTS

182. Select the option that will improve the 

underlined part of the given sentence. In 
case no improvement is needed, select 'No 
improvement required'.
The plants readily respond to these 
stimulus.

(A) ready respond to these stimuli
(B) No improvement required
(C) readily respond to these stimuli
(D) readily responds to this stimulus

[MTS, 21-07-2022 Shift-III]

183. Select the option that will improve the 

underlined part of the sentence. In case 
no improvement is needed, select 'No 
improvement required'.
No other informations was conveyed to 
him.

(A) None another information
(B) No other information
(C) No other's information
(D) No improvement required

[MTS, 21-07-2022 Shift-III]

184. Select the most appropriate option to 

substitute the underlined segment in 
the given sentence. If there is no need 
to substitute it, select 'No substitution 
required'.
These days I like to eat nuts and seeds 
along with fruits as I'm conscious of my 
healthfulness.

(A) healthful
(B) health
(C) healthy
(D) No substitution required

[SSC MTS, 6-7-2021 Shift-II]

185. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence.

Srilekha is Mr. Singhs daughter.
(A) Mr. Singh (B) Mr. Singhs'
(C) Mr. Singh's (D) Mr. Singhs's

[SSC MTS, 12-7-2021 Shift-2]

186. Select the most appropriate option to 

substitute the underlined segment in 
the given sentence. If there is no need 
to substitute it, select 'No substitution 
required'.
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You can 昀椀nd several kind of birds in 

the Mysore Zoo, pelicans, 昀氀amingos, 
hornbills and egrets.
(A) several kinds of birds
(B) several kind of bird
(C) kind of several birds
(D) No substitution required

[SSC MTS, 20-7-2021 Shift-III]

187. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select No Improvement. 
For her, money is only the means to an 

end.
(A) the means for an end
(B) means to end
(C) No Improvement
(D) a means to the end
[MTS (Non-Tech.) 05-08-2019 Shift-I]

Select the most appropriate option to 

substitute the underlined segment in the 
given sentence.

188. The increasing sale of luxuries is an index 
of the country's prosperity.
(A) appendix
(B) pointer
(C) mark

(D) No  improvement
[SSC MTS 20.02.2011]

Delhi Police Head Constable

189. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence.

The major reason for his 昀椀scal success 

is that his parents are in昀氀uential people.
(A) The major reason for his capitalistic 

success
(B) The major reason for his 昀椀nancial 

success
(C) The major reason for his fiscal 

successes
(D) The major reasons for his budgetary 

success
[Delhi Police Head Constable 2022]

SSC Stenographer

190. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence. If there is no need to 
substitute it, select ‘No substitution.’

  In the jungle, they encountered a school 

of lions.
  (A)  pride of lions
  (B)  No substitution
  (C)  pack of lions
  (D)  sloth of lions

[SSC Steno. 13-10-2023 Shift-II]

191. Select the most appropriate option that 

can substitute the underlined segment in 
the given sentence. If there is no need to 
substitute it, select 'No substitution.'
The Philippines is the second largest 
archipelago with over 7,000 islands.

(A) Secondly largest archipelago 
(B) Second largely archipelago
(C) No substitution
(D) second large archipelago

[Steno. 18-11-2022 Shift-III]

192. Select the most appropriate option to 

substitute the underlined segment in 
the given sentence. If no substitution is 
required, select ‘No substitution’.
A deer is likely to attack by lions or tigers 
throughout its life.
(A) No substitution
(B)  going to attack
(C) subject to attack
(D) will be attacked 

[Steno. Gr, C, D 15-11-2021 Shift-I]

 Direction (Q. No. 193 to 198)

 In the following questions, out of the four 
alternatives, select the alternative which will 
improve the bracketed part of the sentence. In 
case no improvement is needed, select “No 
improvement”.

193. The bundle of coins were the only source) 
of information for them.
(A) The bundles of coins were the only 

source
(B) The bundles of coins were the only 

sources
(C) The bundle of coin was the only 

source
(D) No Improvement

[SSC Steno. 14-09-2017 Shift-I]

194. (One of the major drawback of cleanliness 
drives is) less action and more talks.
(A)  One of the major drawbacks of 

cleanliness drives is
(B)  One of the major drawbacks of 

cleanliness drives are
(C)  One of the major weak point of 

cleanliness drives is
(D) No improvement

[SSC Steno. 14-09-2017 Shift-II]

195. A certain amount of (mystic) exudes his 
own charm.

(A) mysticity
(B) mysticism
(C) mysticly
(D) No improvement

[SSC Steno. 14-09-2017 Shift-II]

196.  Before giving her parents the shock of 
(their life), it was important to convince 
herself for that step.
(A) his and her life
(B) their lives
(C) Its life
(D) No improvement

[SSC Steno. 12-09-2017 Shift-I]

197.  The parents could never guess what (the 
words meant) or who her dangerous teen 
idol was.
(A) the words mean
(B) the words moan

(C) the words explained
(D) No improvement

[SSC Steno. 11-09-2017 Shift-I]

198.  (Higher provision) requirements on these 
counts as well as other factors will affect 
the capital position of several banks.
(A) Higher provisional

(B) High provision
(C) High provisionistic

(D) No improvement
[SSC Steno. 11-09-2017 Shift-I]

 Direction (Q. No. 199 to 201)

Select the most appropriate option to sub-
stitute the underlined segment in the given 
sentence. If there is no need to substitute it, 
select No substitution’.

199. While I was sitting in the waiting area, 
I had an opportunity to study people’s 
faces carefully.
(A) No substitution
(B) every person faces
(C) each person face
(D) all people faces

[SSC Steno. Gr. C,D 24-12-2020 Shift-I]

200. Always check under the seat thoroughly 
before you have placed your luggages.

(A) you placed your luggage
(B) you place your luggage
(C) you are placing your luggages
(D) No substitution

[SSC Steno. Gr. C,D 22-12-2020 Shift-I]

201. The problems of traf昀椀c crowding will not 

disappear soon.
(A) congestion

(B) concentration
(C) intensi昀椀cation
(D) No improvement

[SSC Steno. Gr. C,D 26-09-2010]

SSC CHSL (Tier-I)

202. Select the option that will improve the 

bracketed part of the sentence. In case 
no improvement is needed, select 'No 
improvement’ 
He spent many an hours playing the 
chess across the city.
(A) No improvement 
(B) He had spent many an hours playing 

the chess across the 

(C) He spent many an hour playing the 
chess across the 

(D) He have spent many an hours  
playing the chess across the 

[SSC CHSL 21-3-2023 Shift-I]

203. Select the word segment that substitutes 
(replaces) the bracketed word segment 
correctly and completes the sentence 
meaningfully. In case no improvement is 
needed, select ‘No improvement’.
The businessman also insisted (that the 
police had issued him several summons
(A) No improvement 
(B) that the police had issued him several 

summonses
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(C) that the police issued him with 
several summonses 

(D) that the police issued him several 
summons

[SSC CHSL 13-3-2023 Shift-IV]

204. Select the option that will improve the 

underlined part of the given sentence.
Reema and Aasha were frolicking in the 
park.

(A) were performing in the garden
(B) were participating in the garden
(C) were enjoying in the garden
(D) were playing in the garden

[SSC CHSL 27-5-2022 Shift-III]

205. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select ‘No substitution’.
These days, wherever district courts are 
functioning, hearings is limit to urgent 
matters.

(A) hearings are limited
(B) hearings were limited
(C) hearing is limit

(D) No substitution
[SSC CHSL 11-08-2021 Shift-III]

206. Select the most appropriate option to 

substitute the underlined segment in 
the given sentence. If there is no need 
to substitute it, select ‘No substitution 
required’.
Regard of whether the students were 
ready or not the teacher announced the 
dates of the test.
(A) Regarding whether
(B) Regardless of whether
(C) No substitution required
(D) Regardless of whatsoever

[SSC CHSL 10-08-2021 Shift-III]

207. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select No improvement.
Tons of sheep was grazing in the 昀椀eld.
(A) A 昀氀ock of sheep
(B) Many sheeps
(C) Numerous sheeps
(D) No improvement

[SSC CHSL 20-10-2020 Shift-III]

208. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select ‘No improvement’.
India has lost a veteran actor with the 
deceased of Shriram Lagoo.
(A) No improvement
(B) bereavement
(C) expired
(D) demise

[SSC CHSL 12-10-2020 Shift-II]

209. In the following question, out of the four  
alternatives, select the alternative which 
will improve the bracketed part of the 
sentence. In case no improvement needed, 
select ‘‘No improvement’’.
The base of the cooking vessels would 
have a thick coating of carbon deposit 
and (clean) it was a pain.

(A) cleaned
(B) cleans
(C) cleaning

(D) No improvement
[SSC CHSL Online 10-03-2018]

SSC CPO

210. Select the most appropriate option to 
substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select No improvement.
In the park I happened to meet two of my 
father’s friend who had known him for 
several years.
(A) two friends of my fathers 
(B) No improvement
(C) two of my fathers friend 
(D) two of my father’s friends

[SSC CPO 13-12-2019 Shift-II]

211. Select the most appropriate option to 
substitute the underlined segment in the 
given sentence. If there is no need to 
substitute it, select ‘No substitution’.
When we arrived at Jhansi station, we 
are keeping our luggages  in the cloak 
room. 

(A) are keeping our luggage
(B) kept our luggages
(C) kept our luggage
(D) No substitution

[SSC CPO 11-12-2019 Shift-I]

212. Select the most appropriate option to 
substitute the underlined segment in 
the given sentence. If there is no need 
to substitute it, select ‘No substitution 
required’.
Tomatoes sown around July in the 
southern states are harvested in October.
(A) Tomatoes sown under July 
(B) Tomatoes sowing around July
(C) No substitution required 
(D) Tomatoes sow around July

[SSC CPO 09-12-2019 Shift-II]

213. Improve the bracketed part of the 
sentence.

[SSC CPO, 4-07-2018, Shift-II]

Shrey has got many friends because he 
has got (much money).  

(A) a lot of money 
(B) bags of money
(C) enough money 
(D) No improvement

214. In the following question, a part of the 
sentence is underlined. Below are given 
alternatives to the underlined part which 
may improve the sentence. In case no 
improvement is required choose 'No 
improvement is required'.

A pair of slippers is cheap now a days.
(A) slipper is 

(B) slippers are 
(C) No improvement 
(D) are cheap

[SSC CPO, 5-06-2016, Shift-II]

SSC CGL (Tier-I)

215. Select the most appropriate option to 

substitute the underlined segment is given 
sentence. If there is no need to substitute 
it, select No improvement.
My shoes were worn out so I had to buy 
a new one.

(A) the new one's
(B) new ones

(C) No improvement
(D) a new ones

[CGL&19] 03-03-2020 Shift-III]

216. Select the most appropriate option to 

substitute the underlined segment in the 
given sentence. If no need to substitute it, 
select No improvement.
Our new of昀椀ce will become operational 
from a weeks time.
(A) No improvement
(B) for a weeks time
(C) by the week's time
(D) in a week's time

[CGL&19] 09-03-2020 Shift-I]

 Direction (Q. No. 217 and 218)

A sentence/a part of the sentence is underlined. 
Four alternatives given to the underlined part 
which will improve the sentence. Choose 

the correct alternative and click the button 
corresponding to it. In case no improvement 
is needed, click the button corresponding to 
“No improvement.”

217. At the present rate of exchange, fourteen 
dozen cost ` 3000.
(A) dozen costs 
(B) dozens cost
(C) dozens costs 
(D) No improvement

[SSC CGL 06-09-2016 Shift-I]

218. His immediate ambition was to 昀椀nd a 
place to live in.

(A) strategy (B) design
(C) aim (D) No improvement

[SSC CGL 30-08-2016 Shift-II]

SSC CGL (Tier-II)

219. Select the most appropriate option to 

substitute the underlined segment is given 
sentence. If there is no need to substitute 
it, select No improvement. 
All the family members of his are in 

Ernakulam.
(A) All the members of his family
(B) All his family members
(C) All of his family members
(D) No Improvement

[SSC CGL 30-11-2016]
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Solutions

1. (D) fjDr LFkku esa Archaeology (N) dk 
ç;ksx gksxkA Archaeology dk vFkZ 
gSµtehu ds vUnj ik, x, çkphu 
oLrqvksa ,oa Hkouksa ds vo'ks"k ij vrhr 
dk v/;;u] vFkkZr~ iqjkrRo foKkuA

2. (A) fjDr LFkkuksa esa addition (N), edition 
(N) dk ç;ksx gksxkA Good at something 
= fdlh dke dks vPNs <ax ls djus esa 
leFkZA
Addition µ tksM+us dh fØ;k] fo'ks"kr% 
la[;kvksa dks] la;kstu] ;ksxA
Edition µ iqLrd dk çdkf'kr :i] 
laLdj.k] ,d gh le; vkSj :ikdkj esa 
çdkf'kr le; iqLrdsa] lekpkj i= vkfnA

3. (C) fjDr LFkku esa shadow dk ç;ksx gksxkA 
Shadow dk vFkZ gSµijNkbZ Nk;k (çdk'k 
vkSj lrg ds chp esa fdlh ds vkus ls 
lrg ij cuh mldh /kq¡/kyh vkÏfrA

4. (D) � fjDr LFkkuksa esa heel o toe dk iz;ksx 
gksxkA 

�	Heel–,M+h] iSj dk fiNyk fgLlk] toe.

�	Toe–iSj dh vaxqyh ;k v¡xwBkA

5. (D) fjDr LFkku esa right o knot dk ç;ksx 
gksxkA eSaus vius iq= dks xk¡B yxkus dk 
lgh rjhdk crk;kA

6. (B) fjDr LFkkuksa esa cent, scent dk iz;ksx 
gksxkA
Cent&vesfjdu MkWyj dk 100ok¡ HkkxA
Scent&lqxU/k] [kq'kcwA

7. (B)  fjDr LFkkuksa esa ‘scene’ o sea dk iz;ksx 
gksxkA 
�	Scene–LFkku fo'ks"k dk n`';] utkjkA

8. (B) fjDr LFkku esa 'Evidence' dk iz;ksx 
mfpr gSA
Evidenceµlcwr] lk{;] xokghA
Evince ,d Uncountable laKk gS ;fn 
,d vn~n xokgh ;k lcwr dh ckr djuh 
gks rks Piece dk Hkh iz;ksx gksrk gSA

9. (A) fjDr LFkku esa 'ease' dk iz;ksx mfpr 
gSA will ease and self–con昀椀dence = 
lqxerk o vkRefo'okl ds lkFkA 
vr% fodYi (A) lgh gSA

10. (B) fjDr LFkku esa 'conditions' dk iz;ksx 
gksxkA Need to be met = to be likely 
to do something.
�	Accounts–fglkc-fdrkcA
�	Points–vUrnhiks] fcUnqvksaA
�	Restrictions–izfrcU/k] jksdA

11. (A) fjDr LFkku esa modi昀椀cation (N) dk 
iz;ksx lgh gSA 
�	modi昀椀cation–:i-ifjorZu] lq/kkjA
�	modulation–vf/kfeJ.k] mrkj-

p<+koA
�	forti昀椀cation–fdykcUnh] lqǹ<+hdj.kA
�	habitation–fuokl-LFkku] x`g] ?kjA

12. (B) fjDr LFkku esa solace dk iz;ksx mfpr 
gSA solace–lkaRouk] eu cgyko] fouksnA 
(help and comfort when you are 
feeling said or worried).

13. (D) fjDr LFkku esa clan avk,xk ftldk vFkZ 
gS xks= ;k oa'k] D;ksafd okD; ds vFkZ ds 
vuqlkj ;gk¡ ,d gh oa'k ds yksxksa dh ckr 
gks jgh gSA
vr% fodYi (D) lgh gSA

14. (C) fjDr LFkku esa ability ;ksX;rk dk iz;ksx 
lgh gSA rHkh okD; vFkZiw.kZ gksxkA
vr% fodYi (C) lgh gSA

15. (A) fjDr LFkku esa balance dk iz;ksx lgh 
gS] D;ka s fd ;g subject (ecology) 
ikfjfLFkfrdh ds fy, iz;qDr gks jgk gSA 
vr% fodYi (A) lgh gSA

16. (D) fn, x, fjDr LFkku esa restoration (iqu% 
LFkkiu) vk,xk] D;ksafd ;g paintings ds 
fy, use gqvk gSA
vU; 'kCnksa ds vFkZ gSaµ
RedecorationµiqulZTtk
Renovationµuohuhdj.k] ejEer
Reconstructionµiqu£uekZ.k
vr% fodYi (D) lgh gSA

17. (B) fjDr LFkku esa visibility dk iz;ksx lgh gS 
D;ksafd vkxs okD; esa could not proceed 
further dk iz;ksx gks jgk gSA
�	visibilityµn`';rk] n`f"V{ks=
�	distanceµnwjh
�	sceneµn`';
�	outlookµn`f"Vdks.k
vr% fodYi (B) lgh gSA

18. (B) fjDr LFkku esa verge (dxkj) dk iz;ksx 
lgh gksxk
lineµjs[kk
marginµvarj] gkf'k;k
peakµpksVh] pje
vr% fodYi (B) lgh gSA

19. (A) fjDr LFkku esa effect (N) izHkko dk iz;ksx 
mfpr gSA that has a terrible effect on 
the health of peopleµok;q iznw"k.k dk 
yksxksa ds LokLF; ij cqjk izHkko iM+rk gSA

20. (B) fjDr LFkku esa habitats dk iz;ksx gksxkA
�	Habitatsµfdlh i'kq ;k ikS/ks dk 

izkÏfrd vkoklA
�	EcosystemµikfjrU=] ikfjfLFkfrd 

rU=A 
�	Cultureµlao/kZu] f'k"VrkA
�	Grasslandsµpjkxkg] ?kklLFkyA

21. (A) fjDr LFkku esa 昀氀ight (N) dk iz;ksx mfpr 
gSA lhf<+;ksa ds p<+us ds ckn O;fDr dks 
Fkdku eglwl gqbZA

22. (D) fjDr LFkku esa crumbs (N) dk iz;ksx 
mfpr gSA
�	Crumbs – jksVh] Mcy jksVh] dsd ;k 

fcLdqV ds cgqr NksVs lw[ks gq, VqdM+sA
�	Shell –	'ka[k] vkoj.k] [kksyhA
�	Heap –	<sj lkjkA
�	Bar – 'ykdk] NM+A

23. (D) fjDr LFkku esa errand (N) dk iz;ksx 
mfpr gSA
�	Erreand –	 fdlh dks dqN nsus ;k 

fdlh ds fy, dqN ykus ds fy, dh 
xbZ NksVh ek=k tSls [kjhnkjh ds fy,A

�	Amendment  –	la'kks/kuA
�	Objection –	vkifÙk] ,srjktA
�	Encasement –	r[rcUnh

24. (B) fjDr LFkku esa constraint (N) dk iz;ksx 
mfpr gSA
�	Constraint –	izfrcU/k] lhfer djus 

okys fu;U=.kA
�	Easiness  – jkgrA
�	Comfort – pSu ;k lq[k igq¡pkuk] 

fnyklk nsukA
�	Neglut – fdlh O;fDr ;k oLrq dh 

mis{kk djukA

25. (A) fjDr LFkku esa Precondition dk iz;ksx 
mfpr gSA
�	Precondition – iwoZ 'krZ] iwoZ izfrcU/kA
�	Percussion –	 Mªe]<ksyd vkfn 

ok|;U= tks le?kkr ls ctk, tkrs gSaA
�	Premonition – vkxkeh ladV dh eu 

gh eu vuqHkwfr]iwoZcks/k] iwokZuqekuA
�	Parasite – ijthoh ouLifr ;k tUrqA

26. (C) fjDr LFkku esa heirs (N) dk iz;ksx mfpr 
gSA
�	Heirs –  mÙkjkf/kdkjh] okfjlA
�	Hares –  [kjxks'k] 'k'kdA
�	Here  –  ;gk¡] m/kjA
�	Hair  – cky] ds'k] tqYQA
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27. (B) fjDr LFkku esa footpath dk iz;ksx mfpr 
gSA
�	Footpath – iVjh] yksxkas dk pyus dk 

jkLrk] QqVikFkA
�	Runway – /kkou iFk] gokbZ vMM~s ij 

foeku ds mM+ku Hkjus vkSj mrjus ds fy, 
iV~Vh ;k iFkA

28. (A) okD; ls Li"V gS fd os igys 'kkar jgs vkSj 
ckn eas okrkZyki gqvkA
vr% fodYi (A) ‘Conversation’ lgh 
mÙkj gSA

29. (C) okD; eas fjDr LFkku ls igys inde昀椀nite 
article ‘a’ vk;k gS blfy, mlds ckn 
singular noun ‘formula’ dk use gksxkA
vr% fodYi (C) lgh gSA

30. (B) bl okD; eas online shopping dk ftØ 
gSA vr% fjDr LFkku eas ‘deals’ (ysu&nsu] 
Ø;&foØ;) dk iz;ksx mfpr gksxkA
Objects, spaces vkSj covers ;gk¡ dksbZ 
vFkZ ug° nsrsA
vr% fodYi (B) lgh gSA

31. (B) Rewardµsomething given when 

you have done something good 
(ikfjrksf"kd] buke)A
Award–somebody gets a prize for 
performing well (buke] iqjLdkj)A
Prizeµsomething of value given to 
somebody who is successful in a 
race competition, game, etc. (migkj] 
fufèk] t;ykHk)A
Profitµthe money that you make 
when you sell something (ykHk] 
Qk;nk)A
fjDr LFkku eas a reward vk,xkA

32. (C) fjDr LFkku eas structure (N) dk iz;ksx 
mfpr gSA okD; eas atom of oxygen vkSj 
atom of hydrogen ds structure dh ckr 
dgh x;h gSA

33. (D) fjDr LFkku esa ‘inspiration (N) dk 
iz;ksx mfpr gSA inspiration dk vFkZ gSµ 
izsj.kkA vr% fodYi (D) lgh gSA

34. (A) fjDr LFkku esa obligation vk,xk] D;ksafd 
legal penalty dk cks/k gks jgk gSA ;gk¡ 
acknowledgement, requirement vkSj 
appreciation foijhr gksrs gSaA 
obligation – the state of having to do 
something due to law or duty (dkuwuh 
ck/;rk)A 

35. (C) boredom — uhjlrk dk iz;ksx lgh gSA

36. (D) fjDr LFkku esa 'serenity' 'kkfUr@xEHkhjrk 
dk iz;ksx gksxkA
Disruptionµfo?u] fo?kVu]
AgitationµmÙkstuk] ?kcjkgV
AnxietyµfpUrk] ijs'kkuh ds i zfr 
vfu'p; dh Hkkouk] fo'ks"kr% Hkfo"; 
ds izfrA

37. (B) fjDr LFkku esa resistance dk iz;ksx gksxkA
   Resistance dk vFkZ gSµO;fDr dh jksx 

izfr'kks/ku 'kfDrA

38. (B) fjDr LFkkuksa esa Flavours rFkk existence 
dk iz;ksx mfpr gS] D;ksafd ekuo dh thHk 
sweet, salty, bitter, sour savoury vkSj 
lEHkor% Fat tSls jlks (Flavours) ls 
tqM+h gksrh gS vkSj bu tastes ds chp vUrj 
dks crkuk human existence (ekuo 
vfLrRo) ds fy, crkuk egRoiw.kZ gksrk gSA 
attune = vH;Lr] Crucial = vR;f/kd  
egRoiw.kZ fu.kkZ;dA

39. (A) ³  fjDr LFkkuksa esa specimens vkSj  
extinction dk iz;ksx gksxkA
�	 extinction— foyk si] removal 

fu"dklu] fuokj.k] eradication 
— mUewyu] tM+ ls u"V djuk] 
elimination—fuewZyuA

40. (D) fjDr LFkkuksa esa Øe'k% ‘ability’ vkSj 
‘length’ dk iz;ksx gksxkA igys fjDr 
LFkku esa ‘ability’ dk iz;ksx blfy, 
gksxk] D;ksafd chameleons dh eyes dks 
independently move djus dh {kerk 
dk o.kZu gS vkSj nwljs blank esa ‘length’ 
dk iz;ksx blfy, gksxk] D;ksafd mudh 
tongue ds head vkSj body nksuksa ls 
T;knk cM+s gksus dh ckr dgh xbZ gSA
vr% fodYi (D) lgh gSA

41. (D) ‘signature’ dk iz;ksx mfpr gS] D;ksafd 
possessive case osG ckn Noun (signa-
ture) dk iz;ksx gksxkA 

42. (C) fjDr LFkku esa negligence dk iz;ksx 
mfpr gSA negligenceµvlko/kkuh 
(lack of care) vr% fodYi (C) lgh gSA

43. (C) okD; ds fjDr LFkku esa ef昀椀ciency (n) 
^dk;Z{kerk* dk iz;ksx mfpr gSA

44. (D) fjDr LFkku esa eagle eyes dk ç;ksx gksxkA
Eagle eyes dk vFkZ gSµ(rh{.kn`f"V] 
rst fuxkg)
Starry eyes— vO;kogkfjd n`f"V
Sheep eyes— I;kj ls] ew[kZrkiw.kZ <ax
Black eyes— cqjh utj] Ï".kus=A

45. (C)  fjDr LFkku esa tunnel (N) dk iz;ksx gksxkA 
A deep tunnel with no end (phrase) 
dk vFkZ gS&,d ,slh lqjax ftldk vUr 
u gksA

46. (C) fjDr LFkku esa ‘accelerator’ (N) mRizsjd 
dk iz;ksx mfpr gSA Impediment— 
vojks/k] ck/kk] jksd&Vksd vkfnA

47. (D) fjDr LFkku eas 'kCn ‘Plethora’ (N) 
cgqrk;r ;k vf/kdrk] dk iz;ksx mfpr 
gSA

48. (B) fjDr LFkku esa authorities dk iz;ksx 
mfpr gS] D;ksafd Auxiliary verb-have 
ds iwoZ Plural noun vkrk gSA

49. (D) fjDr LFkku eas Compulsory (N) dk 
iz;ksx mfpr gSA Compulsory means 
mendatory, inevitable vkfnA

50. (B) fjDr LFkku ea s Participants (N) 
izfrHkkfx;kas dk iz;ksx mfpr gSA

51. (C) fjDr LFkku eas Consequences (N) dk 
iz;ksx mfpr gSA
�	Complexes dk vFkZ gSµtfVy] 

isphnkA
�	Conclusion dk vFkZ gSµfu"d"kks±A
�	Concerns dk vFkZ gSµizlxksa] ekeykasA 
vr% fodYi (C) lgh gSA

52. (B) fjDr LFkku ea s Alternatives (N) 
(fodYikas) dk iz;ksx mfpr gSA
�	Alteration dk mfpr vFkZ gSµifjorZu] 

dksykgy] miæoA 
vr% fodYi (B) lgh gSA

53. (A)  fjDr LFkku eas Requirements (N) ek¡x] 
vko';drk,¡ dk iz;ksx mfpr gSA
�	Procurement dk vFkZ gSµolwyh] 

izkfIrA 
vr% fodYi (A) lgh gSA

54. (C) fjDr LFkku eas Sentinels (N) (izgjh] 
lUrjh] j{kkiq#"k) dk iz;ksx mfpr gSA

55. (A)  fjDr LFkku eas ‘Fare’ (N) fdjk;k dk 
iz;ksx mfpr gSA

56. (B) fjDr LFkku esa recognition (ifjKku] 
ekU;rk) dk iz;ksx gksxkA resolution 
ladYi] award—ikfjrksf"kd] reward— 
iqjLdkjA
vr% fodYi (B) lgh gSA

57. (B) fjDr LFkku eas rise in in dk iz;ksx gksxkA 
rise in dk vFkZ gS& fdlh pht esa o`f¼ 
;k fodklA
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58. (B) fjDr LFkku es a emission (mRlxZ] 
mRltZu L[kyu) dk iz;ksx gksxkA

59. (C) fjDr LFkku esa delegates (izfrfuf/k) 
dk iz;ksx gksxk D;ksafd vkxs okD; esa 
conference fn;k x;k gSA

60. (C) fjDr LFkku esa Comparison  dk iz;ksx 
gksxk] D;ksafd mlls iwoZ better dk iz;ksx  
gks jgk gSA
vr% fodYi (C) lgh gSA

61. (B) fjDr LFkku eas Personnel (deZpkjh oxZ) 
dk ç;ksx 'kq¼ gSA
�	Individual  µ O;fDrxr
�	group µ lewg
�	person µ O;fDr

62. (B) The word — ‘conceit’  is the correct 
alternative.

Note: ‘Surfeit’ means — ‘too much 
of sth’, Forfeit — means losesth by 
some error, offence or crime, receipt 
— acknowledgement.

63. (C) The blank should be appropriately 
昀椀lled by—‘imposition’ means the 
act of imposing something – (as a 
tax or an embargo).

64. (B) Substitutes means-LFkkukiUu] ubiquitious 
loZO;kihA

65. (C) America dk dance marathon euksjatu 

(entertainment) dh vis{kk thfor jgus 
dh (survival) j.kuhfr FkhA

66. (B) ‘Trachoma’ is a infection.

67. (A) fjDr LFkku esa weapon; miss dk iz;ksx 
mfpr gSA

68. (D) fjDr LFkku esa brain; defer dk iz;ksx 
mfpr gSA

69. (B) fjDr LFkku esa 昀椀eld; magnet dk iz;ksx 
mfpr gSA

70. (C) fjDr LFkku esa pole; navigation dk 
iz;ksx mfpr gSA

71. (B) fjDr LFkku esa] sagacity (N) having 
or showing understanding; wisdom 
(nwjnf'kZrk) dk iz;ksx mfpr gSA

72. (B) The word–'Candour' means 
frankness–the quality of being 
honest and straight forward in 
attitude and speech.
Hence, the option (B) is correct.

73. (D) research papers, germane will 
complete the sense of given 
sentence.

74. (C) 'a mediator, union workers' will be 
used in the blanks.

75. (C) The blank should be appropriately 
昀椀lled by ‘methods’.

76. (D) fjDr LFkku esa Wry face dk iz;ksx 
mfpr gS D;ksafd bu nksuksa 'kCnksa ds iwoZ 
‘a’ article gS vkSj article dh position 

gksrh gS [Article + Adv + Adj + Noun] 
Wry face dk vk'k; gS&psgjs ds ,sls Hkko 
ftlesa fujk'kk ds lkFk fouksn dk Hkh Hkko 
gksA

77. (A) fjDr LFkku esa ‘Output’ (N) dk iz;ksx 
mfpr gSA Output = mRiknu] mitA
vr% fodYi (A) lgh gSA

78. (A) fjDr LFkku esa ‘descriptions’ (fooj.k) 
dk iz;ksx mfpr gSA
�	monologues = vkReHkk"k.k ;k Loxr 

Hkk"kk
�	spaces = vuar] ,d [kkyh {ks=
vr% fodYi (A) lgh gSA

79. (D) fjDr LFkku esa ‘aspirations (N) dk 
iz;ksx mfpr gSA Aspiration = vkdka{kk
vr% fodYi (D) lgh gSA

80. (A) fjDr LFkku esa Competitiveness dk 
iz;ksx mfpr gSA Competitiveness = 

izfr;ksfxrkRedrkA

81. (B) fjDr LFkku esa reaction dk iz;ksx mfpr 
gSA Reaction = fo#¼ fØ;k] inkFkks± dk 
,d&nwljs ij jklk;fud izHkkoA 

82. (C) fjDr LFkku esa prediction dk iz;ksx 
mfpr gSA Prediction = Hkfo";ok.kh] 
vkxe dFkuA

83. (B) fjDr LFkku es a assurance (izrhfr] 
fo'okl] Hkjkslk) dk iz;ksx lgh gSA

84. (D) ‘Costumes’ (iks'kkd] ifjèkku) is a 

set of clothes in a style typical of 
a particular country or historical 
period.

85. (D) Manufacturers will be used in the 
given blank.

86. (A) The word 'occasion' means a 
particular time, especially when 
something happens or has happened. 
It is a special or formal event.

87. (D) The word 'conservation' (laj{k.k) 
stands for the protection of plants 
and animals, natural areas and 
interesting and important structures 
and buildings especially from the 
damaging effects of human activity.

88. (B) The word disparity (vlekurk] 
fo"kerk) means a lack of equality or 
similarity, especially in a way that 
is not fair.

89. (A) The word 'conflict' stands for 
an active disagreement between 
people with opposing opinions or 

principles.

90. (B) The blank should be appropriately 
昀椀lled by 'enthusiast.'

91. (D) The blank should be appropriately 
昀椀lled by 'oxymoron.'

92. (C) The blank should be appropriately 
昀椀lled by 'solution.' (lek/kku)

93. (B) The blank should be appropriately 
昀椀lled by 'immigrant.' (vkizoklh)

94. (D) fjDr LFkku esa bouquet dk lgh iz;ksx 
gSA 
bouquet: a bunch of 昀氀owers arranged 
in an attractive way : (xqynLrk)

95. (D) fjDr LFkku esa 'Continual' dk iz;ksx 
mfpr gSA 'Habitual' vkSj 'Continual' 
lekukFkhZ 'kCn gSaA

   Temperate – 'khrks".k] la;eh] ladksph
   Stagnant – xfrghu] izokgghu] fLFkj
   Holistic – lEiw.kZ :i ls] v[k.M :i ls
   Continual – fuR;] fujUrj] fu;fer

96. (C) fjDr LFkku esa ‘toe’ dk iz;ksx mfpr gSA
�	toadµ,d izdkj dk es<d (tksfd 

lkekU;r% ikuh ds ckgj ik;k tkrk gSA)
�	Toµ,d Preposition.

�	Towµ,d okgu dks fdlh vU; okgu 
ls ck¡/kdj [khapukA

E.g, My motorbike can torsed away 
by the police of昀椀cer.

97. (C) fjDr LFkku esa route (N) dk iz;ksx mfpr 
gSA
�	Route (N)—ekxZ] jkLrkA
�	Root (N)—tM+] ewy] cqfu;knA
�	Rot (N)—nqxZU/k] foxyuA
�	Riot (N)—foIyo] cyokA
vr% fodYi (C) lgh gSA

98. (A) fjä LFkku esa ^symbol*dk ç;ksx mfpr 
gSA Symbol – çrhd] fpUg] Role – 
Hkwfedk] Badge – ind] fcYykA 

99. (B) 'furnitures' ds LFkku ij furniture 
vk,xkA ;g uncountable noun gS 
ftlds lkFk s/es ugha vkrsA
vr% fodYi (B) lgh gSA

100. (B) 'Mala aunties small shop' ds LFkku 
ij Mala Aunty's small shop gksxkAa 
apostrophe ('s) dk iz;ksx gksxk] D;ksafd 
;gk¡ possession dk cks/k gSA
vr% fodYi (B) lgh gSA
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101. (C) Sunnys ds LFkku ij Sunny's dk iz;ksx 
lgh gS] D;ksafd Sunny ds Noun case esa 
's' dk iz;ksx vFkZiw.kZ gksxkA
vr% fodYi (C) lgh gSA

102. (A) 'for better' ds LFkku ij 'for the 
betterment' dk iz;ksx lgh gS] D;ksafd 
Preposition ds ckn Noun dk iz;ksx 
fd;k tkrk gSA
vr% fodYi (A) lgh gSA

103. (D) all the works dh txg all the work 

dk iz;ksx gksxk] D;ksafd work ,d 
uncountable gSA work = dke] ukSdjh 
(fo'ks"kr% /kuktZu ds fy,)] ukSdjh djus 
dh txg] dk;Z&LFky (n¶rj ;k QSDVjh 
vkfn)A

104. (C) electronic equipments from dh txg 
electronic equipment from dk iz;ksx 
gksxkA ;g Noun ,sls gksrs gSa ftUgsa plural 
ugha cuk;k tk ldrk gSµ equipment, 
furniture, luggage, information, 
advice, electricity vkfnA

105. (A) the best teacher dh txg the best 

teachers dk iz;ksx gksxk] D;kasfd one of, 
each of, either of vkfn ds ckn noun 
plural form esa iz;qDr fd;k tkrk gSA

106. (A) the best police of昀椀cer dh txg the 

best police of昀椀cers dk iz;ksx gksxk 
D;ksafd one of ds ckn plural noun dk 
iz;ksx fd;k tkrk gSA

107. (C) for prepare dh txg for preparation 
dk iz;ksx gksxkA fdlh Hkh preposition 

ds iwoZ ;k ckn esa Noun dk iz;ksx fd;k 
tkrk gSA

108. (C) a team of astronauts dh txg a crew 

of astronauts dk ç;ksx gksxkA

109. (B) fn, x, okD; eas ‘race’ ds LFkku ij 
‘racism’ gksxkA
Racism dk vFkZ gSµuLyoknA
vr% fodYi (B) lgh gSA

110. (C) inform (V1) dh txg information 
(N) gksxk] D;kasfd no ds i'pkr~ Noun 
dk iz;ksx fd;k tkrk gSA

111. (C) How many dh txg How much 
dk ç;k sx gk sxk] D;k s a fd cost ,d 
uncountable noun gSA

112. (C) 'any of the shop' ds LFkku ij any of 
the shops dk iz;ksx gksxk] D;ksafd any 
of ds ckn plural noun dk iz;ksx gksrk 
gSA

113. (C) because of her angry dh txg 
because of her anger dk iz;ksx gksxk] 
D;ksafd angry ,d adjective gS] vkSj ;gk¡ 
noun dk iz;ksx gksxkA

114. (C) ‘security managing practice’ ds LFkku 
ij ‘security managing system’ dk 
iz;ksx gksxkA

115. (A) truths ds LFkku ij ‘truth’ dk iz;ksx 
gksxkA

116. (A) The weather dh txg the climate dk 
iz;ksx gksxkA
Weather (N.): The condition of the 
atmosphere at a particular place 
and time.
Climate (N.): The regular pattern of 
weather conditions of a particular 
place.

vr% fodYi (A) lgh gSA

117. (C) No error [okD; Grammar ,oa structure 
dh n`f"V ls lgh gS, A Tendency to do 
something = O;ogkj djus dk <ax] 
vknrA

118. (C) okD; grammatically vkSj contextually 
lgh gSA vr% fodYi (C) lgh gSA

119. (A) ‘one of my friend’ =qfViw.kZ gSA ;gk¡ one 

of my friends dk iz;ksx gksuk pkfg,A 
one of  ds ckn Plural noun dk iz;ksx 
gksrk gSA

120. (D) ‘means free’ =qfViw.kZ gSA free osG LFkku 
ij means ‘freedom’ lgh fodYi gksxkA 
vr% ;gk¡ freedom vk;sxkA

121. (B) Furnitures dh txg furniture dk iz;ksx 
gksxkA furniture ,d uncountable noun 
gS tks plural form esa iz;qDr ugha gksrk gSA

122. (C) Hair is uncountable noun and is used 
with singular verb.

123. (C) Equipment is a uncountable noun 
thus its plural cannot be formed.

124. (D) No Error.
125. (D) No Error.

126. (C) understandings dh txg understanding 
dk iz;ksx gksxkA 

127. (B) daughter-in-laws dh txg daughters-
in-law dk iz;ksx gksxkA

128. (C) 'upbringing of women' esa =qfV gSA
;gk¡ upbringing of a girl child dk iz;ksx 
gksxkA vr% fodYi (C) lgh gSA

129. (B) ‘even thousands of mile’ dh txg 
even thousands of miles dk ç;ksx 

gksxkA hundreds or even thousands 
of miles dk vk'k; gSµ lSdM+ksa] gtkjksa 
ehyA

130. (A) ;gk¡ Option (A) esa =qfV gSA ;gk¡ fn[kkuk gS 
vkt ds theme dh musicA vr% todays 
u gksdj today's gksxkA

131. (C)  fodYi (C) eas] than hospitalise dh txg 
than hospitalisation dk iz;ksx gksxkA
vr% fodYi (C) lgh gSA

132. (A)  fodYi (A) eas the most feared form, 
dh txg the most feared forms dk 
iz;ksx gksxk D;ksafd one of ds ckn plural 
noun dk iz;ksx fd;k tk,xkA
vr% fodYi (A) lgh gSA

133. (B) ‘Each players’ dh txg  Each player 
dk iz;ksx gksxk D;kasfd Each ds ckn 

Singular Noun iz;qDr gksrk gSA
vr% lgh mÙkj (B) gSA

134. (B) fodYi (B) ea s a bunch coriander 
leaves dh txg a bunch of coriander 
leaves dk iz;ksx lgh gSA
vr% fodYi (B) lgh gSA

135. (C) mi;qZDr okD; eas cultural performings 
ds LFkku ij cultural performances 
dk iz;ksx gksxk] D;kasfd cultural ,d 
Adjective gS tks performance (N) dks 
modify djsxkA vr% fodYi (C) lgh gSA

136. (D) bl sentence esa Double possessive 
case dk  use ugha gksxkA possessive 

dks nks izdkj ls cuk ldrs gSa&
	� of dk use djdsA
	� apostrophe (‘) yxkdjA vr% 

lgh fodYi gksxkµThe picture 
of the king is exactly like the 
king himself.

137. (C) of our philosophy and cultural dh 
txg of our philosophy and culture 
dk iz;ksx gksxkA and ds }kjk l;qaDr parts 

of speech leku Rank ds gksus pkfg,A 

138. (C) kind dh txg kinds dk iz;ksx gksxk 
D;kasfd all vius plural form gSA

139. (D) No improvement is required.

140. (C) Year dh txg years dk iz;ksx gksxk 
D;ksafd 70 ,d plural number gS rks 
blds ckn iz;qDr noun dks Hkh plural 
number esa gksuk pkfg,A

141. (A) The crowd in place of the few crowd 
will be used.
Note: The word–‘crowd’ takes either 
singular or plural verb.
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142. (B) ‘Awards’ will be used in place of 
‘award’.

143. (B) ‘Furnitures’ should be replaced by 
‘furniture’. Because it has no plural 
form.

144. (B) and to bring democracy and 
development will be used-because 
‘developments’ is an adjective and 
not a noun.

145. (D) No error.

146. (A) ;fn Definite Numeral Adjective 
vkSj Noun dks hyphen (-) ls la;qDr 

Compound Word cuk;k tk, rks og 

Noun lanSo Singular jgrk gSA

vr% 昀椀ve-man enquiry lgh iz;ksx gSA

147. (A) js[kkafdr okD;ka'k her mother dh txg 

her mother's dk ç;ksx gksxkA okD; esa 

apostrophes’ ls lacaf/kr =qfV gSA

148. (C) day dh txg days dk iz;ksx gksxk 

D;ksfd day ls igys iz;qDr six day ,d 

ls vfèkd fnu dk cksèk gksrk gSA 

149. (B)  ;gk ¡  ‘desiring’ dk s  ‘desire’ 'kCn 

ls izfrLFkkfir djuk gksxk] D;ka sfd 

‘desiring 'kCn continuous form eas gS] 

tcfd ;gk¡ noun dh vko';drk gSA 

150. (D) No improvement is required.

151. (A) Replace ‘lakhs’ by ‘lakh’ noun 
should be in singular number after 
de昀椀nite plural number adjective.

152. (A) ‘summonses’ (plural in number) 
will be used in place of ‘summons’. 
(singular number)

153. (C) ‘pairs’ will be used in place of ‘pair’.

154. (B) ‘injustice’ will be used in place of 
‘justice’, because denounce means 
condemn, and oppression means 
harassment.

155. (D) No improvement is required.

156. (C) On the cupboards dh txg on the 

cupboard dk iz;ksx gksxkA Cupboards & 

Hkkstu] oL=ksa vkfn dks laHkkydj j[kus 

dh njoktksa okyh vyekjhA

157. (A) 'three breaks-in' esa =qfV gSA break-in 
(compound noun) dk plural form 

g Sµbreak-insA 'break-in' dk vFk Z 

gSµfdlh building esa fcuk btktr ;k 

pksjh Nqis izos'k djukA

vr% fodYi (A) lgh gSA

158. (B)  ‘The teacher's’ dh txg the teachers 

dk iz;ksx gksxk] D;ksafd Principal us 
lHkh teachers ls request dh gSA vr% 
apostrophe('s) dh vko';drk ugha gSA
vr% fodYi (B) lgh gSA

159. (B) One of the best college ds LFkku ij 
one of the best colleges gksxk D;ksafd 

one of ds ckn ges'kk plural countable 
noun dk iz;ksx fd;k tkrk gSA

160. (A) Compound noun sister-in-law dk 
Plural gksxk&sisters-in-law.
vr% ;gk¡ My sisters-in-law.... dk iz;ksx 
mfpr gksxkA

161. (C) Uncountable nouns have no plurals 
and cannot generally be used with 
a/an. So replace sugars by sugar.

162. (A) ‘hope’ ds LFkku ij ‘hopes’ (Plural) 
dk iz;ksx djsaxsA

163. (C) Many good advices ds LFkku ij 
much good advice dk iz;ksx djsaxsA 
;fn blds plural vFk Z dk iz;k sx 
vfuok;Z gS rks phrase dh lgk;rk ls 
,slk Hkh dj ldrs gSa_ tSlsµ A few  
pieces of advice.

164. (B) “Every conceivable race and 
nationality had its share of suffering 
in the world wars.”
O;k[;kµ;gk¡ had, have dk Verb (II) 
form gS] blfy, share (N) gksxkA

165. (B) the alphabets ds LFkku ij the 

alphabet – o.kZekyk dk iz;ksx gksxkA

166. (B) woman ds LFkku ij women dk iz;ksx 
gksxk D;ksafd okD; ls cgqr lh woman 

dk cks/k gks jgk gSA
vr% working women lead a life of 
dual reponsibilities dk iz;ksx mfpr gSA

167. (D)  All the mouse' dks All the mice  ls 
cny fn;k tk,xk D;ksafd dqN laKkvksa 
dks 's/es' tksM+dj cgqopu ugha cuk;k 
tkrk gSA budk plural ,d vyx rjhds 
ls fd;k tkrk gS &&criterion – criteria 
syllabus–syllabi vkfnA vr% fodYi 
(D) lgh  gSA

168. (B) prevalent* dh txg prevalence* dk 
ç;ksx gksxk D;ksafd fdlh preposition 

dks  follow ,d  noun djrk gS u fd 
,d adjectiveA vr% fodYi (B) lgh 
gSA

169. (D) No error.

170. (C) 'are proportionate to the offend' dh 
txg are proportionate to the offence 
dk ç;ksx gksxk D;ksafd proportionate ,d 

Adjective gS tks vius ckn noun ysxk 
u fd verbA vr% fodYi (C) lgh  gSA

171. (C) js[kk afdr okD;ka'k dh txg there 

are hundreds of superstitions that 
survive in various parts of the 
country, and the study of them is 
rather amusing gksxkA

172. (D) misplaced their luggages dh txg 
misplaced their luggags gksxk D;kasfd 
luggage baggage, furnuture, adesce, 
information vkfn dk plural ugha cuk;k 
tkrk gSA

173. (C) Be prestigious dh txg be suspicious 
dk iz;ksx gksxk D;ka sfd prestigious 
(izfrHkwr ;k [;kfr izkIr) gksus ds fy, dksbZ 
reason (dkj.k rdZ) ugha fn;k tkrk gSA

174. (A) death day dh txg death anniversary 
dk iz;ksx gksxkA death anniversary 
means anniversary of the death of a 
person.

175. (D) Hope these measure will take us dh 
txg Hope these measures will take 
us dk iz;ksx gksxk] D;ksafd these ds ckn 
plural noun vkrk gSA

176. (B) Country pay little attention dh txg 
countries pay little attention iz;ksx 
gksxk] D;kasfd sense ds vuqlkj plural 
noun dk iz;ksx gksxkA

177. (C) To insure peace and calm dh txg to 

ensure peace and calm dk iz;ksx gksxkA 
ensure fdlh ckr dks lqfuf'pr djuk] 
;k fdlh ckr dk lqfuf'pr gksukA

�	Insure–chek djokuk ;k djukA
Please ensure that the door is locked 
before you leave.

178. (C) js[kkafdr okD;ka'k enquire about eyes 
surgery dh txg enquire about eye 
surgery dk ç;ksx gksxkA Enquire about 
something = fdlh pht ds ckjs esa 
iwNrkN djukA

179. (C) 'kCn relevent dh txg relevant 

dk iz;ksx gksxkA Relevant dk vFkZ 
gSµizklafxd lac¼ (fopkj fd, tk jgs 
fo"k; ;k tks gks jgk gS mlls lac¼)A



18   |    

180. (C)   Construction of the ground 昀氀our 
dh txg Construction of the ground 
昀氀oor dk iz;ksx gksxkA
�	Flour–fcLdqV] dsd vkfn cukus esa 

iz;qDr xsgw¡ vFkok vU; vukt ds 
eghu ikmMj] vkVkA

�	Floor–ry ground 昀氀oor dk vFkZ 
gS&lM+d ds Lrj dh eafty vkSj 
昀椀rst 昀氀oor dk vFkZ gS&mlls Åij 
dh eaftyA

181. (D) frequency ds LFkku ij democracy dk 
iz;ksx mfpr gSA 
frequencyµckjackjrk
democracyµiztkra= 
vr% okD; ds lanHkZ es a fodYi (D) 
democracy lgh gSA

182. (C) js[kkafdr okD;ka'k readily respond 
to these stimulus dh txg readily 
respond to these stimuli dk iz;ksx 
gksxkA stimulus dk plural gSµstumliA 
stimulus = fdlh dks lkfcr djus] 
fodkl dh vksj ys tkus] fdlh esa #fp 
c<+kus okyh dksbZ ckr] míhid] izsjd] 
izksRlkgudkjh rRoA

183. (B) js[kkafdr okD;ka'k No other information 
dh txg no other information dk 
iz;ksx gksxk D;ksafd information ,d 
uncountable 'kCn gS ftldk plural 
ugha gksrk gSA oSls Hkh blds ckn was dk 
iz;ksx gqvk gSA

184. (B) okD; esa 'healthfulness' ,d adjective 
gS tcfd ;gk¡ noun vkuk pkfg, vFkkZr~ 
'healthfulness' dh txg 'health' dk 
iz;ksx gksxkA

185. (C) bl okD; eas possessive dk use vFkkZr~ 
apostrophe dk iz;ksx gksxk vkSj og Hkh 
Mr. Singh ds cknA vr% Mr. Singhs 
daughter dh txg Mr. Singh’s 
daughter vk,xkA

186. (A)  okD; ds several ds ckn plural vk,xk 
vFkkZr~ 'several kind of birds' ds LFkku 
ij 'several kinds of birds' vk,xkA 
several = vusd] fofHkUuA

187. (C) ‘the means to an end’ dk vFkZ gSA  –
something done only to produce the 
desired result vFkkZr~ lk/ku ek=A
vr% dksbZ improvement dh vko';drk 
ugha gSA

188. (D) okD; es a fdlh improvement dh 
vko';drk ugh gSA
Index – Indication (ladsr ;k lwpd)
Appendix – a section giving extra 
information.
Pointer – a sign that something exists
Mark – a sign/indication
vr% fodYi (D) lgh gSA

189. (B) The major reason for his fiscal 
success dh txg The major reason 
for his 昀椀nancial success dk iz;ksx 
gksxkA
Fiscalµljdkj ;k lkoZtfud /ku 
(fo'ks"kr% djksa) ls lEcfU/kr] jktfoÙkh;A

Financialµ/ku fo"k;d] foÙkh;A

190. (A) js[kkafdr okD;ka'k School of lions dh 
txg Pride of lions dk ç;ksx gksxkA 
Pride of lions dk vFkZ gSµ'ksjksa dk 
lewgA

191. (C) No Substitution [js[kkafdr okD;ka'k 
Grammar dh n`f"V ls 'kq¼ gSA]
Archipelago – }hi lewgA

192. (C) js[kkafdr okD;ka'k likely to attack dh 
txg subject to attack dk iz;ksx gksxkA 
likely izlax ds vuqlkj vFkZiw.kZ 'kCn ugha 
gSA

likely to attack = problem to attack

Subject to something = likely to be 
affected by something.

193. (A) It should be ‘bundles’ in place of 
‘bundle’ as the subject is plural 
(coins). Thus, the correct sentence  
is : The bundles of coins were the 
only source of information for them.

194. (A) ‘One of the major drawbacks of  
cleanliness drives’ will be used 
because is ‘One of’ always takes 
plural noun after it.

195. (B) 'mystic' (adj.) will be replaced by 
‘mysticism‘ (noun).
mysticism–The belief that you can 
reach complete truth and knowledge 
of God.

196. (B) ‘Their’ is a plural form of pronoun, 
thus plural verb (lives) will be used.

197. (D) No Improvement.
198. (A) ‘Higher provisional’ is the correct 

expression.
(Provisional means providing or 
serving for the time being only).  
Whereas provision means the action 

of providing or supplying some- 
thing.

199. (A) Syntax dh n`f"V ls okD; iw.kZr% lgh gSA

200. (B) ‘you have placed your luggages’ osG 
LFkku ij ‘you place your luggage 
dk iz;ksx gksxk] D;ksafd luggage ,d 

uncountable noun gSA

201. (A) 'crowding' ds LFkku ij 'congestion' 
dk iz;ksx mfpr gksxkA
Congenstion (N) : the state of being 
crowded and full of traf昀椀c (HkhM+-HkkM+_ 

vf/kd ?kuh cLrh)
Crowd (V) : to 昀椀ll a place, so there is 
little room to move (HkhM+ djuk)
Concentration (N) : a lot of some-
thing in place (l?kurk_ teko)
Intensification (N) : the fact of 
increasing in degree or strength 
(c<+kuk_ xgurk_ vkf/kD;)

vr% fodYi (A) lgh gSA

202. (C) fn;s x;s okD; esa "many an hours" ds 

LFkku ij "many an hour" dk ç;ksx 

gksxk] D;ksafd a/an ds ckn Singular 
noun vkrk gS vkSj hour 'kCn dh sound  
vowel sound gS many a many an dk 

vFkZ gSµdh cM+h la[;k vusdA

203. (B)   Several ds ckn vkus okyk noun 
plural gksxkA tSls several boysA vr% 

summons dh txg summonses gksxkA

204. (C) js[kkafdr okD;ka'k were frolicking in 
the park dh txg were playing in 
the garden dk iz;ksx gksxkA

Frolic = [ksydwn djukA

205. (A)     js[kkafdr okD;ka'k hearings is limited. 
Hearing dh txg hearings are dk 

iz;ksx gksxk] D;kasfd hearings, Plural 
Noun gS rFkk okD; Passive structure 
ij vk/kkfjr gSA 

vr% fodYi (A) lgh gSA

206. (B) js[kkafdr 'kCn ‘Regard of whether’ 
dh txg ‘Regardless of whether’. dk 

iz;ksx gksxkA Regardless of Something 
= Somebody means pay no attention 
to something somebody.
 vr% fodYi (B) lgh gSA

207. (A) js[kkafdr okD;ka'k Tons of sheep ds 

LFkku ij A 昀氀ock of sheep dk iz;ksx 

gksxk] D;ksafd sheep  ds lkFk 昀氀ock dk 

iz;ksx gksrk gS u fd tons dkA vr% fodYi 

(A) lgh gSA
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208. (D) mi;qZDr okD; esa deceased osG LFkku ij 
demise dk iz;ksx gksxkA

209. (C) Bracketed part should be replaced 
by – ‘cleaning’ (Noun) 

210. (D)  ;gk¡] ‘two of my father’s friend, ds 
LFkku ij ‘two of my father’s friends’ 
dk iz;ksx gksxk] D;kasfd ;gk¡ friend 
cgqopu eas gSA

211. (C)  are keeping our luggages ds LFkku 
ij ‘kept’ our luggage dk iz;ksx gksxk] 
D;kasfd luggage dk iz;ksx singular 
form eas gksrk gS] D;kasfd ;g uncountable 
noun gSA vr% fodYi (C) lgh mÙkj gSA

212. (C) No substitution is required.

213. (A) ‘a lot of money’ in place of (much 
money). Note: [Much—used with 
uncountable nouns, mainly in 
negative sentence and questions]‘a 
lot of’ normally used in General 
Statements.

214. (C) sentence is grammatically correct.

215. (B) js[kkafdr 'kCn a new one ds LFkku ij 

new ones iz;ksx gksxk] D;ksafd shoes 

plural word gSA

216. (D) js[kkafdr okD;ka'k from a weeks time ds 

LFkku ij in a week's time iz;ksx gksxkA

217. (D) No improvement.

218. (C) js[kkafdr 'kCn Ambition dh txg aim 

dk iz;ksx gksxkA

vfHkyk"kk — Target

Strategy — ;qfDr

Design — bjknk

Aim — (mís';@y{;) lgh fodYi gSA

219. (A) All the family members of his dh 

txg All the members of his family 

dk ç;ksx gksxkA All the members of his 

family] possessive case dks n'kkZrk gSA

qq


